UGC NET 2022 ARAB CULTURE N ISLAMIC STUDIES

Topic:- 049_UGCNET_SEPT22_S2_PartA

1) Cairo city was founded by
D13 9182 B fpol Fenfira fopen?

[Question ID = 11502][Question Description = 101_49_ARBC_SEP22_S4_Q01]
1. Mohammed Ali Pasha
Higdarc 3ictt urem

[Option ID = 16005]
2. Sultan Saleem
JJcelol Actia
[Option ID = 16006]
3. Jawahar al-Siqilli
Sras¥e Rifdbeett
[Option ID = 16007]
4. Ubaidullah Fatimi
3dgeet wifersdt
[Option ID = 16008]

2) Nihajul Balagha is a collection of
forarsiet areron forgotferf3aa 3 3 fepaed1 Jiddetol & ?

[Question ID = 11503][Question Description = 102_49_ARBC_SEP22_S4_Q02]

1. Poetry
DI

[Option ID = 16009]
2. Speeches
ITEOT

[Option ID = 16010]
3. Fatawa
Werdr

[Option ID = 16011]
4. Memoirs
0T

[Option ID = 16012]

3) The last battle between Umayyad and Abbasidal Zab was fought in the year

3adl 3fi= srearfl sre-ad @ #eR siferd g o ad oSt oRm en?

[Question ID = 11504][Question Description = 103_49_ARBC_SEP22_S4_Q03]
1. 749

[Option ID = 16013]
2. 745

[Option ID = 16014]
3. 751

[Option ID = 16015]
4. 748

[Option ID = 16016]

4) Muwashshahat is a kind of poetry developed in
DI DI TP YDR HAersd sl famfra g ?

[Question ID = 11505][Question Description = 104_49_ARBC_SEP22_S4_Q04]
1. Iraq
SAD



[Option ID = 16017]
2. Egypt
By

[Option ID = 16018]
3. North Africa
3adt it

[Option ID = 16019]
4. Spain
ol

[Option ID = 16020]

5) Foundation stone of great mosque of cordova was laid down by
@dar &1 yRig AlSic o1 snemfdren ool %t «fi?

[Question ID = 11506][Question Description = 105_49_ARBC_SEP22_S4_Q05]
. Abdur - Rahman |
3regiaael |
[Option ID = 16021]
2. Hisham
{Bomr

[Option ID = 16022]
3. Abdur - Rahman Il

3regIaarel |11

[Option ID = 16023]
4. Mansur

R

[Option ID = 16024]

6) Ibn - khaldun (1332-1406) is considered to be the father of

geol Acgol (1332-1406) o) foratfeiRaa 3 1 fpraT Stete ATe SIar 37

[Question ID = 11507][Question Description = 106_49_ARBC_SEP22_S4_Q06]
1. Historiography

sferBrRI-cidot

[Option ID = 16025]
2. Lexicography

DI9I- oIl

[Option ID = 16026]
3. Biography

Sftaoft

[Option ID = 16027]
4. Sociology

ST

[Option ID = 16028]

7) Author of Majma-ul-Bahrain is

'IASH - IcAIEIoT D AXID Dol 2

[Question ID = 11508][Question Description = 107_49_ARBC_SEP22_S4_Q07]
1. Murad

xRS

[Option ID = 16029]
2. Dara Shikoh

SR forple

[Option ID = 16030]
3. Akbar
3D

[Option ID = 16031]
4. Shah Jahan



onasIat

[Option ID = 16032]

8) Altutmish was succeeded by:

$eafdol @ IARIfPRI Blol A?

[Question ID = 11509][Question Description = 108_49_ARBC_SEP22_S4_Q08]

1.

Qutbuddin Aaibak
@gogSior dad

[Option ID = 16033]

. Razia Sultana

ORI Feeron
[Option ID = 16034]

. Muhammad bin Tughlaq

HadAG [l gorcid
[Option ID = 16035]

. Balban

dcldol

[Option ID = 16036]

9) Who among the following is famous for Ghazal poetry

forgarfciRaa 3 2 srsicl oI @ fore dlol yRIg &7

[Question ID = 11510][Question Description = 109_49_ARBC_SEP22_S4_Q09]

1.

Zuhair

R
[Option ID = 16037]

. Hutayyah

AR

[Option ID = 16038]

. Farazdaq

[Option ID = 16039]

. Umar bin Abi Rabiyah

32 fdfer ardl e

[Option ID = 16040]

10) The Arab conquered Spain during the rule of:

3124l of foPA® AMAGIDICT B SITeT ol DI RIS fop=m?

[Question ID = 11511][Question Description = 110_49_ARBC_SEP22_S4_Q10]
1.

Abdul Malik
31egcl AfeTd

[Option ID = 16041]

. Waleed

qcfle
[Option ID = 16042]

. Mosa bin Nusair

AT ot oRil:
[Option ID = 16043]

. Hisham

Boma

[Option ID = 16044]

11) Author of Hisab Al-Jabr wal Muqablah is:

'RRATGCT SIg aeT FPTECT' YIAD DI AMAD DBl & ?

[Question ID = 11512][Question Description = 111_49_ARBC_SEP22_S4_Q11]
1.

Ibn AL-Haitham
Soojcl B9l

[Option ID = 16045]



2. lbn - Tufail

gool el

[Option ID = 16046]
3. Al-khawarizmi

31cT- st

[Option ID = 16047]
4. |bn Nadeem
ool oIIH

[Option ID = 16048]

12) lbn-al-khatib's most famous book titled AL-lhatah fi Akhbar Gharnatah is on

seo]cl Fcild &1 "sic1-3ad1 Bl 3RAdR IRl ofite g fop=1 farerr 21 aAefea 37

[Question ID = 11513][Question Description = 112_49_ARBC_SEP22_S4_Q12]
1. History
sfesrRt

[Option ID = 16049]
2. Geography

poileT

[Option ID = 16050]
3. Philosophy

Golotome

[Option ID = 16051]
4. Medicine

fRrepem- o)

[Option ID = 16052]

13) Who among the Umayyad rulers declared Arabic as official language of the state

forgarfeiRaa ardl omras! 3t A fop3aal sRdl &Y 2w o1 snferapifyas smur Miftra fopem e ?

[Question ID = 11514][Question Description = 113_49_ARBC_SEP22_S4_Q13]
1. Hisham
Bomar

[Option ID = 16053]
2. Waleed
acflg

[Option ID = 16054]
3. Abdul Malik

3regel Aferd

[Option ID = 16055]
4. Amir Muwayiah

awite gamfdrRm

[Option ID = 16056]

14) Custodian of Holy Kaba at the time of birth of the prophet was:

ORI HBEHAC D Slod D AR Ufde] DIl DI ufegiad diol an?

[Question ID = 11515][Question Description = 114_49_ARBC_SEP22_S4_Q14]
1. Abdul Muttalib
3regel Jefera
[Option ID = 16057]
2. Abu Talib
31q, crfers
[Option ID = 16058]
3. Utbah
3cdr

[Option ID = 16059]
4. Shaibah



dlar

[Option ID = 16060]

15) Companion of the Prophet during his stay inside cave Hira was:

321 311 3 yart @ SiRIel UsFaR A. @I AsIEl dlot a1 ?

[Question ID = 11516][Question Description = 115_49_ARBC_SEP22_S4_Q15]
1. Hazrat Umar
BORA 3H2

[Option ID = 16061]
2. Hazrat Abu Bakar

BOR 31, TP

[Option ID = 16062]
3. Hazrat Ali

BT et

[Option ID = 16063]
4. Hazrat Uthman
BORA 330l

[Option ID = 16064]

16) Who among the following was honoured with the title of Zunnurain

forearferRRae 3 21 fop= Jooidor @ Radra A rwafora o= srRir en?

[Question ID = 11517][Question Description = 116_49_ARBC_SEP22_S4_Q16]
1. Hazrat Umar
BIRA 32

[Option ID = 16065]
2. Hazrat Uthman

BT 3Tl

[Option ID = 16066]
3. Hazrat Ali

ST et

[Option ID = 16067]
4. Hazrat Abu Bakar
BORA 3, DI

[Option ID = 16068]

17) Which among the following is not one of the Jewish tribes of Medinah during the Prophet's time

UorFar 3. o1 Drcmafdl o Sirel forafeii¥aa 3 A @iot At acion Al Storsnfer ordl 37

[Question ID = 11518][Question Description = 117_49_ARBC_SEP22_S4_Q17]
1. Banu Nazeer
qo] olsfle
[Option ID = 16069]
2. Banu Quraiza
[Option ID = 16070]
3. Banu Qainga
[Option ID = 16071]
4. Aws tribe
TS Slotaliel

[Option ID = 16072]

18) Great Islamic Jurist Iman Malik lived during the period of:
JMgIol s¥arl faferaear samar aifcres forssiferRaa 3 A oI omToIdmTar 3 o7



[Question ID = 11519][Question Description = 118_49_ARBC_SEP22_S4_Q18]

1. Caliph Mutasim

acfiwr Fale

[Option ID = 16073]
2. Caliph Mutawakkil

Zactiwr Faaferaer

[Option ID = 16074]
3. Caliph Haroun AL-Rasheed

XicfiwT 1ol 3ieT-29flG

[Option ID = 16075]
4. Caliph Abdul Malik

Mcllpiarege Aflcid
[Option ID = 16076]

19) Which among the following is not among prominent Islamic schools of thoughts during Abbasid period
forgsiferRae 31 3 Pblel A1 YA s¥eIedl R AYgRI sreardl onRIeIdIeT @I oidl 3?7

[Question ID = 11520][Question Description = 119_49_ARBC_SEP22_S4_Q19]
1. AL-Qadriyah

31cT- PG

[Option ID = 16077]
2. AL-Murfiyah

3-SR

[Option ID = 16078]
3. AL-Asharaite

3ICT- 3133t

[Option ID = 16079]
4. AL-Shiyah

31ct-form

[Option ID = 16080]

20) Tuhfatul Mujahideen deals with the:
qawdel Jondler forotferlRad 3 3 el HdfenT 32

[Question ID = 11521][Question Description = 120_49_ARBC_SEP22_S4_Q20]
1. Resistance against British
it D g g
[Option ID = 16081]
2. Resistance against French
R B Rz Y
[Option ID = 16082]
3. Resistance against Portuguese
ydonferdl @ frg yferta
[Option ID = 16083]
4. Resistance against Dutch
sdl @ feg yfer
[Option ID = 16084]

21) Huijjatullahi Al Balighah deals with:
EoeIqecIidl 3ieT aferen fororferfaa 3 2 feperRy AdferT 3?7

[Question ID = 11522][Question Description = 121_49_ARBC_SEP22_S4_Q21]
1. Hadith
Fereina

[Option ID = 16085]
2. Uloomul Quran
Scdiet p3iiol

[Option ID = 16086]



3.

4.

Islamic Shariyah
el o

[Option ID = 16087]
Logic
ao

[Option ID = 16088]

22) Who among the following is an eminent Persian poet known as Tutie Hind

qfere Roc omar 2 yoaa bt of forgaferRaa 3 21 oo 32

[

1

Question ID = 11523][Question Description = 122_49_ARBC_SEP22_S4_Q22]

Abul Fazal
31T WoTeT

[Option ID = 16089]

. Faizi

woft
[Option ID = 16090]

. Amir Khusro

3l IGRRL
[Option ID = 16091]

. Bedil

Afer
[Option ID = 16092]

23) Darse Nizami in India was initiated by:

R 3 <A foraIefl &1 9pRs Rpard> R fop=n s ?

[Question ID = 11524][Question Description = 123_49_ARBC_SEP22_S4_Q23]

1.

Abdul Haque Muhaddith Dehlavi
3regel &P Palg dacrdt

[Option ID = 16093]

. Shah Waliullah Dehlavi

9l acfi3cell Saerdt
[Option ID = 16094]

. Mulla Nizamuddin Suhalvi

Foell foremetel Jaerdt
[Option ID = 16095]

. Abdul Hai Farangi Mahalli

3Iegel 88 Wit atach
[Option ID = 16096]

24) Eminent personality not associated with Khilafat Movement is

forgaifeiRaa 3 A dlal 2 giing =iftbea Racrea siecicre A Jeg o1dl & ?

[Question ID = 11525][Question Description = 124_49_ARBC_SEP22_S4_Q24]

1.

Maulana Muhammad Ali Jawhar
dilctrolt gaaorc sicht Slisz
[Option ID = 16097]

. Maulana shaukat Ali

afietron ol arcft
[Option ID = 16098]

. Mahatma Gandhi

FBIcAI alfeft

[Option ID = 16099]

. Begum Hazrat Mahal

o1 BoRA BT

[Option ID = 16100]



25) Father of the Optics is:

YBI9I-fISITel 5T STl Bl & ?

[Question ID = 11526][Question Description = 125_49_ARBC_SEP22_S4_Q25]
1. Ibn Tufail

oo gt

[Option ID = 16101]
2. lbn Nadeem

o0l olGIaT

[Option ID = 16102]
3. AL-Bairuni

31ct-farsoft

[Option ID = 16103]
4. lbn AL-Haitham

S0ICT 9T

[Option ID = 16104]

26) Lozam Treaty was signed between Turk representatives and allied powers in 1923. Accordingly, Caliphate system was
abolished and Turkey was declared a

clisrra o1 AAfer ad 1923 3 g yfaforf2ril sii= ifdfa orftpRil @ a1e1 g8 off RRID AR WcllbE RIavel ®1 JATUH 31T 3R gl foreat vu 3 aifta gam:

[Question ID = 11527][Question Description = 126_49_ARBC_SEP22_S4_Q26]
1. Democracy

cltepeief

[Option ID = 16105]
2. Socialist Republic

AGIAIC] SRS

[Option ID = 16106]
3. Monarchy

ST

[Option ID = 16107]
4. Oligarchy

31U

[Option ID = 16108]

27) Iskoriyal library, considered one of the oldest libraries having more than one thousand eight hundred and fifty precious
books is situated in:
sFDIT¥RIICT YaeadIcrI Aaiferd grefiel gaadieril 3 3 Siiell SIidl 3 fSR1dl T 8511?3116 Al U= 313 YD 3, 98 YIADIeRI sl 32d 3?

[Question ID = 11528][Question Description = 127_49_ARBC_SEP22_S4_Q27]
1. Madrid
Afgs

[Option ID = 16109]
2. Cordova
qclar

=)

[Option ID = 16110]
3. Morocco
Eilescd

[Option ID = 16111]
4. Toledo
QST

[Option ID = 16112]
28) Sultan Salahuddin took back Baitul Maqdis from Christians during the year

Jedlol AcTElol ol Sdel ADIGA DY Al A fopa adl arua fern?
[Question ID = 11529][Question Description = 128_49_ARBC_SEP22_S4_Q28]



1. 1187 AD
1187 5.

[Option ID = 16113]
2. 1184 AD

1184 &

[Option ID = 16114]
3. 1177 AD

1177 &

[Option ID = 16115]
4. 1174 AD

1174 &

[Option ID = 16116]

29) Author of Tahafut al - Tahafut is:
ABIGA 3ICI-ABIEA @ TlRAd 3:

[Question ID = 11530][Question Description = 129_49_ARBC_SEP22_S4_Q29]
1. lbn Sina
ool ol

[Option ID = 16117]
2. lbn Rushd

S0l B9G

[Option ID = 16118]
3. Ibn Tufail

g0l el

[Option ID = 16119]
4. AL-Zahrawi

31cT- 318t

[Option ID = 16120]

30) Author of Kilab at - Aghani is:

‘Rpcrget RIell’ @ cRa® 3

[Question ID = 11531][Question Description = 130_49_ARBC_SEP22_S4_Q30]
1. AL-Jahiz
31eT- SIfasT

[Option ID = 16121]

2. Raghib AL-Asfahami
ofiget sRwarolt
[Option ID = 16122]

3. Abul Faraj AL-Asfahani
31gcl BRASI 3iel-3RWBIof

[Option ID = 16123]
4. Ibn Abd Rabbehi
Sool 3l6G Jedat

[Option ID = 16124]

31) Author of Muruj al - Zahab is

'FBICT S’ D WD B :

[Question ID = 11532][Question Description = 131_49_ARBC_SEP22_S4_Q31]
1. AL-Masudi

Siet-yct

[Option ID = 16125]
2. AL-Tabri

31cT-Ad3t

[Option ID = 16126]
3. Yaqut AL-Hamwi
D 3el-8Idl



[Option ID = 16127]
4. AL-Jahiz
3IcT-SlfasT

[Option ID = 16128]

32) Father of Arabic Alchemy was

3Rl IARIGINNRY B SIoID Blol A?

[Question ID = 11533][Question Description = 132_49_ARBC_SEP22_S4_Q32]
1. AL-Masudi

SicT- R

[Option ID = 16129]
2. AL-Tabri

3eT- a3t

[Option ID = 16130]

3. Jabir bin Hayyan
SifeR ot 1m0t

[Option ID = 16131]
4. Abu Hayyan Al-Tawhidi
31q, geITol il

[Option ID = 16132]

33) Risalat Fusus al Hikam was composed by

'TeArerl GRIe v’ o1 et Rl &1 oft?

[Question ID = 11534][Question Description = 133_49_ARBC_SEP22_S4_Q33]
1. AL- Kindi
31c1-fepact

[Option ID = 16133]
2. AL-Farabi
3IcT-WBITelt

[Option ID = 16134]
3. Ibn-Sina

sool- Mol

[Option ID = 16135]
4. AL-Razi

3IcT-Asft

[Option ID = 16136]

34) Last Abbasid astronomer philosopher was:
3iferan srearzil aaticIom=f sroffore wiar en?

[Question ID = 11535][Question Description = 134_49_ARBC_SEP22_S4_Q34]
1. AL-Khawarizami
31et-Jai¥sadt

[Option ID = 16137]
2. Omar Al-khayyam
392 3[cT- ARAVT

[Option ID = 16138]
3. AL-Battani
31cT-aeoft

[Option ID = 16139]
4. Nasir-al Din al Tusi
oRfi>glor aret At

[Option ID = 16140]

35) The book titled "Hai Ibn Yaqzan"was written by



'8¢ gool Aquit’ offdfas gram Rpzror ferxdt oft?

[Question ID = 11536][Question Description = 135_49_ARBC_SEP22_S4_Q35]
1. Ibn Tufail

g5l el

[Option ID = 16141]
2. Ibn Zuhr

$601 962

[Option ID = 16142]
3. Ibn Rushd

seol B9G

[Option ID = 16143]
4. lbn Bajjah

5601 dISoll

[Option ID = 16144]

36) Early Salajgah made their capital

Rf39IB AcIDI of 3Gl AsIesll B3l dolrs ?

[Question ID = 11537][Question Description = 136_49_ARBC_SEP22_S4_Q36]
1. Isfahan
$2Walol

[Option ID = 16145]
2. Marw
ad

[Option ID = 16146]
3. Baghdad
WIGIG

[Option ID = 16147]
4. Nishapur

foremyz

[Option ID = 16148]

37) Who conquered the famous Roman city "Constantinople”

AH DI YRIg 9182 "Bddforal fepael silar en?

[Question ID = 11538][Question Description = 137_49_ARBC_SEP22_S4_Q37]
1. Mohammad AL-Fatah

HBHIG 3cl-WAd

[Option ID = 16149]
2. Murad Il

R

[Option ID = 16150]

3. Bayazid Il
Rl

[Option ID = 16151]
4. Muhammad Il
piczicAlll

[Option ID = 16152]

38) The last Ottomon Caliph was
siferr 3¥arell ZaciiwT wlot en?

[Question ID = 11539][Question Description = 138_49_ARBC_SEP22_S4_Q38]
1. Sultan Abdul Hameed

3l 3regel sdflG

[Option ID = 16153]
2. Sultan Abdul Majeed Il

Jedrol 3reget sis

[Option ID = 16154]



3. Abdul Hameed Il
aregel sdiis |1

[Option ID = 16155]
4. Muhammad VI
gasas VI

[Option ID = 16156]

39) Who among the Ottoman sultans introduced Janissaries

forgotferiRae 3 A fop2r 3aTofl Feeirot of uforadt o1 3R fpan?

[Question ID = 11540][Question Description = 139_49_ARBC_SEP22_S4_Q39]
. Sultan Urkhan
ol IDalel

1

[Option ID = 16157]
2. Sultan Saleem
Jeeilol Aciia

[Option ID = 16158]
3. Sultan Mahmud
Jcdlol A& G

[Option ID = 16159]
4. Sultan Bayazid
ool RISt

[Option ID = 16160]

40) AL-Zahra palace was built by Abdur Rahman lll in memory of his
sregigarl |l g1 fipaadb Fgier (Aurg) 3 3rcT-31621 #EC ToIaRI 1T &1?

[Question ID = 11541][Question Description = 140_49_ARBC_SEP22_S4_Q40]
1. Wife
o1

[Option ID = 16161]
2. Concubine
orft

[Option ID = 16162]
3. Servant
SRA

[Option ID = 16163]
4. Beloved
busis

[Option ID = 16164]

41) Badiuzzaman Said Nursi was
A. a religious reformer

B. a Muhaddis

C. a Fageeh

D. a leading intellectual

Choose the correct answer from the options given below:

SéIsvomt Ade ol foarfeiRaa 3 A o= a?
A. afdfe Jareo

B. ssfeat

C. wbls

D. yurza gfgshidl



il fou a1 fraseul 9 2 W& 3= goi ¢

[Question ID = 11542][Question Description = 141_49_ARBC_SEP22_S4_Q41]

1. Aand B only.
et A 3k B

[Option ID = 16165]
2. Band Conly.

@Dact B sz C

[Option ID = 16166]
3. Aand D only.

Dact A siiz D

[Option ID = 16167]
4. Cand D only.

@act C sk D

[Option ID = 16168]

42) Mohammas Ali Pasha sent student deligations to
A. America

B. France

C. Italy

D. Germany

Choose the correct answer from the options given below:

S 3ictl aren of 81 Sciistoret fopot Soil 3 Semm?
A. saifsor

B. wiu

C. seeft

D. swafelt

ofid feu are frpeul 3t 21 1381 392 gol :

[Question ID = 11543][Question Description = 142_49_ARBC_SEP22_S4_Q42]
1. Aand B only.
Baet A siiz B

[Option ID = 16169]
2. Band D only.
@act B aiiz D

[Option ID = 16170]
3. Band Conly.
@act B sz C

[Option ID = 16171]
4. Aand Conly.
Dact A siiz C

[Option ID = 16172]

43) Maulana Jalaluddin Rumi was a
A. Politician

B. Muhaddis

C. Poet

D. Sufi



Choose the correct answer from the options given below:

Hictloll Stetrctgiol Wil &
A. Imoldr

B. #slear
C. ofa

D. 3t
offe feu sru el 3 2 AL = goi ¢

[Question ID = 11544][Question Description = 143_49_ARBC_SEP22_S4_Q43]
1. CandD

dact C 3z D

[Option ID = 16173]
2. Aand D

Dact A siiz D

[Option ID = 16174]
3. Band C

@Dact B sz C

[Option ID = 16175]
4, Aand C

Dact A iz C
[Option ID = 16176]

44) Imam Ghazali was a
A. Social activist

B. Philosopher

C. Fageeh (Jurisprudent)
D. Muhaddis

Choose the correct answer from the options given below:

S ISAICl o

A. smnfores oricwat

B. croifora

C. wiblz (faftremft)

D. gsfear

oA R a1e Riecdl # A & a2 o

[Question ID = 11545][Question Description = 144_49_ARBC_SEP22_S4_Q44]
1. Aand Conly.

@act A sk C

[Option ID = 16177]
2. Band Conly.

Dact B aiiz C

[Option ID = 16178]
3. Cand D only.

@act C 3fiz D



[Option ID = 16179]
4. Band D only.

@act B aiiz D
[Option ID = 16180]

45) Shaubia movement was
A. a religious movement

B. a social movement

C. a literary movement

D. a political movement

Choose the correct answer from the options given below:

ofiferRIT sricicrel o

A. enfifep sricietor

B. A siidicior

C. aif¥fearep sricierol

D. rstoifer sricietot

i R o1e Rieseul 3t 3 31dt 3a2 got :

[Question ID = 11546][Question Description = 145_49_ARBC_SEP22_S4_Q45]
1. Aand B only.
Dact A iz B

[Option ID = 16181]
2. Band Conly.
Dact B sz C

[Option ID = 16182]
3. Cand D only.
dact C 3z D

[Option ID = 16183]
4. Band D only.
@qct B siiz D

[Option ID = 16184]

46) Khilafat movement was
A. a religious movement

B. an educational movement
C. a political movement

D. a literary movement

Choose the correct answer from the options given below:

Racirea siicicrer om:

A. enfifep sricieror

B. 9igifdras sficicior

C. Irsroifere sricierol

D. wnf3feeras sricieror

oA R a1e Rraset 3t A & Fa= got :

[Question ID = 11547][Question Description = 146_49_ARBC_SEP22_S4_Q46]
1. Aand B only.
dact A siiz B

[Option ID = 16185]
2. Band Conly.



Dact B sz C

[Option ID = 16186]
3. Aand Conly.
Dact A iz C

[Option ID = 16187]
4. Cand D only.
@Dact C 3z D

[Option ID = 16188]

47) Kash-shaf of Zamakhshari is
A. Commentary of Quran

B. Literary book

C. Hadith

D. History

Choose the correct answer from the options given below:

SRo9RY Bl woonw 3:

A. @6 &t ot

B. nf¥fears gras

C. &

D. sfesra

ofia 3w a1 el 3 A A8 a2 goi :

[Question ID = 11548][Question Description = 147_49_ARBC_SEP22_S4_Q47]
1. Aand Conly.

Dact A iz C

[Option ID = 16189]
2. Aand B only.

@act A ik B

[Option ID = 16190]
3. Band Conly.

@act B sie C

[Option ID = 16191]
4. Cand D only.

@ael C 3k D
[Option ID = 16192]
48) Humayum Tomb is a combination of arts:
A. Islamic
B. Roman
C. Indian
D. Persian

Choose the correct answer from the options given below:

AR b1 AB I forgorferRaa 3 A et wensil w1 AH=AP1 S ?
A. s¥amit

B. 3

C. sl



D. vt
il f&u arg ferapeul 3 3 Al 32 ol :

[Question ID = 11549][Question Description = 148_49_ARBC_SEP22_S4_Q48]
1. Aand B only.
dact A siiz B

[Option ID = 16193]
2. Aand Conly.
Dact A siiz C

[Option ID = 16194]
3. BandConly.
Dact B sz C

[Option ID = 16195]
4. Band D only.
dact B siz D

[Option ID = 16196]

49) Allama Shibli Nomani was
A. a critic

B. a historian

C. a politician

D. an economist

Choose the correct answer from the options given below:

3reetia forectl oliamoft & :
A. srrclras

B. sfersraor

C. IStoldr

D. srefom=ft
il féu a1e fraseul 9 2 W& 3= goi ¢

[Question ID = 11550][Question Description = 149_49_ARBC_SEP22_S4_Q49]
1. Aand C only.

Dact A siiz C

[Option ID = 16197]
2. Band Conly.

@Dact B sz C

[Option ID = 16198]
3. Band D only.

dact B afiz D

[Option ID = 16199]
4. Aand B only.

@dct A 3 B
[Option ID = 16200]

50) Amir khusru was associated with the court of rulers of the dynasties
A. Mughal

B. Suri

C. Tughlaq

D. Khilji

Choose the correct answer from the options given below:



33flik ZRRY fowarfeiRaa 3 3 Rpor Jerden & omRI®] & geaR A Agag A?
A. goret

B. 3t

C. gorer®m

D. Racrsft

offa o s1e frepeul 3f 2 18t 392 9ol :

[Question ID = 11551][Question Description = 150_49_ARBC_SEP22_S4_Q50]
1. Aand B only.
et A aiiz B

[Option ID = 16201]
2. Band D only.
@act B iz D

[Option ID = 16202]
3. Cand D only.
@qet C 3z D

[Option ID = 16203]
4. Aand Conly.
@dact A 3i C

[Option ID = 16204]

51) Darse Nizami was started in

A. Egypt
B. Delhi

C. Farangi Mahal (Lucknow)
D. Baghdad

Choose the correct answer from the options given below:

53l forsiefl &bt 9=3mma wat ¥ efi?

A. iy

B. feecil

C. ®fl HeeT (cRAeS)

D. sorcIc

ofial e s1u feul 3 A A8t 3= goi :

[Question ID = 11552][Question Description = 151_49_ARBC_SEP22_S4_Q51]
1. Aand Conly.

Dact A iz C

[Option ID = 16205]
2. Band Conly.

@act B aik C

[Option ID = 16206]
3. Aand B only.

Dact A 3z B

[Option ID = 16207]
4. Cand D only.

Dact C 3z D
[Option ID = 16208]



52) Jamaluddin Afghani visited
A. Egypt

B. China

C. Burma

D. Turkey

Choose the correct answer from the options given below:

SIAICIEG 31BaTIoil of forotferRa 3 31 Ry Tor i aypror fRpa
A. iy

B. dfior

C. gaf

D. gast

ofia féu ore frepeul 3 2 w1dl 3w= gol

[Question ID = 11553][Question Description = 152_49_ARBC_SEP22_S4_Q52]
1. Aand B only.
Dact A siiz B

[Option ID = 16209]
2. Band Conly.
Dact B sz C

[Option ID = 16210]
3. Aand D only.
@dact A 3k D

[Option ID = 16211]
4. D and C only.
@qcet C 3k D

[Option ID = 16212]

53) Maulana Abul Kalam Azad was
A. Muhaddis

B. Fageeh

C. Journalist

D. Educationist

Choose the correct answer from the options given below:

FHicTIoll 31gcT DeldH IS A :

A. slea

B. wdbls

C. ugor

D. forgmom=<ft

il fou o1 fraseul 3 21 & Fa= goi ¢

[Question ID = 11554][Question Description = 153_49_ARBC_SEP22_S4_Q53]
1. Aand D only.

Dact A 3iiz D

[Option ID = 16213]
2. Cand D only.

dact C iz D
[Option ID = 16214]



3. Band Conly.
@qct B siz C

[Option ID = 16215]
4. Band D only.

Dact B sfiz D
[Option ID = 16216]

54) Lisanuddin Khatib was
A. Prime Minister

B. Historian
C. Critic
D. Muhaddis

Choose the correct answer from the options given below:

ferarrorler acila & :

A. gemotsieft

B. sfmri®R

C. srcira®

D. ssflea

ofid fou a1 el 3 A 8t S ol ¢

[Question ID = 11555][Question Description = 154_49_ARBC_SEP22_S4_Q54]
1. Aand B only.

Dact A iz B

[Option ID = 16217]
2. Band Conly.

Dact B sz C

[Option ID = 16218]
3. Cand D only.

daca C 3z D

[Option ID = 16219]
4. Aand D only.

@act A aiie D
[Option ID = 16220]

55) Two prominent (Katibeen Wahe) copy-writers of Quranic revelation were:
A. Abdullah bin Abbas

B. Ali bin Abi Talib

C. Zaib bin Sabit

D. Abu Hurairah

Choose the correct answer from the options given below:

S ygrza adt & opIferarer-aar (@Rrofl) ®iot A :
A. 31egeel ool 3fodIA

B. sreft saet areft anfera

C. kg ot anfea

D. arg 31



ofid feu sre fpeal 31 A1 A8 Ia= gol:

[Question ID = 11556][Question Description = 155_49_ARBC_SEP22_S4_Q55]
1. Aand C only.
Dact A 3iiz C

[Option ID = 16221]
2. Band D only.
@act B iz D

[Option ID = 16222]
3. Band Conly.
@dqct B siiz C

[Option ID = 16223]
4. Cand D only.
@act C iz D

[Option ID = 16224]

56) Qasim Ameen wrote two books on women. These are:
A. Tahreerul Mara'h

B. Suratul Mara'h
C. Al-Mara'h al Jadeedah
D. Al-Mara'h fil Islam

Choose the correct answer from the options given below:

DIR13 3fiol o AAfFemsil uz BRa <Y yzad ferdl, a grads foreifeRaa # A Blar M 3 :
A. as$ivsd I3

B. Iqct Ass

C. 3rcT-312318 31el SISIcs

D. 3icr-312315 fiber sectman

offa 3w s1e frepeul 3 2 A1t 392 9ol :

[Question ID = 11557][Question Description = 156_49_ARBC_SEP22_S4_Q56]
1. Aand B only.
Paet A siiz B

[Option ID = 16225]
2. Aand Conly.
et A 3iz C

[Option ID = 16226]
3. Band Conly.
@qct B sz C

[Option ID = 16227]
4. Cand D only.
@act C iz D

[Option ID = 16228]

57) Al-Urwatul usqa magazine was edited by two scholars:
A. Qasim Ameen

B. Ahmad Ameen

C. Sheikh Mohammad Abduh

D. Jamaluddin Afghani

Choose the correct answer from the options given below:

3rci-3ddet 3¥p1 ufefe! foratfeilRad <1 figell gRI Aufdd o orf ot :
A. o131 s1aflor

B. szag spfior



C. 9 AsIAT 316gE
D. SEgEler srpateit
il fu are frapeul 31 3 8l 302 ol :

[Question ID = 11558][Question Description = 157_49_ARBC_SEP22_S4_Q57]
1. Aand B only.
Baet A aiiz B

[Option ID = 16229]
2. Band C only.
@ddct B siiz C

[Option ID = 16230]
3. Band D only.
Dact B aiiz D

[Option ID = 16231]
4. Cand D only.
@act C iz D

[Option ID = 16232]

58) Two prominent disciples of Imam Abu Hanifa were
A. Yusuf

B. Shafiee

C. Mohammad

D. Malik

Choose the correct answer from the options given below:

SHIH 31 FollbI D 31 Y o1 wiet & ?
A. 33w

B. onft

C. #igsac

D. aiftre

offax 3w s1e frepeul 3f 2 18t 392 9ol :

[Question ID = 11559][Question Description = 158_49_ARBC_SEP22_S4_Q58]
1. B and C only.
Dact B sz C

[Option ID = 16233]
2. Aand Conly.
et A 3ii C

[Option ID = 16234]
3. Cand D only.
@act C iz D

[Option ID = 16235]
4. Band D only.
@act B aiiz D

[Option ID = 16236]

59) There were two official languages in Ottomon Empire. They were:
A. Persian

B. Turkish

C. Arabic

D. Italiyan

Choose the correct answer from the options given below:



3FATGAT YIS BT S anferep1fye s off J forFerferfRaa 3i 31 wior 1 oft :
A. Bt

B. gat

C. sl

D. sarerdt

offa fou sr1e farepeul 3f 21 A1) 392 9ol :

[Question ID = 11560][Question Description = 159_49_ARBC_SEP22_S4_Q59]
1. B and D only.
@act B sik D

[Option ID = 16237]
2. Cand D only.
@act C iz D

[Option ID = 16238]
3. BandConly.
@act B sie C

[Option ID = 16239]
4. Aand B only.
@act A stz B

[Option ID = 16240]

60) Nizamul Mulk Tusi was
A. A writer

B. Muhaddis

C. Founder of a Madarsa
D. Mufassir

Choose the correct answer from the options given below:

forommager oo et o

A. dE®

B. safea

C. 3151 @1 IFaAuD

D. gwhzr

offa 3w a1e faravcul 3t 21 A8t 3= gof

[Question ID = 11561][Question Description = 160_49_ARBC_SEP22_S4_Q60]
1. Aand B only.
Dact A 3iiz B

[Option ID = 16241]
2. A and Conly.
et A 3z C

[Option ID = 16242]
3. Band Conly.
@act B sie C

[Option ID = 16243]
4. Cand D only.
@act C iz D

[Option ID = 16244]

61) Two great orators emerged during Umayyad period. They were:
A. Marwan
B. Zeyad bin Arabi

C. Waleed



D. Hajjaj bin Yusuf

Choose the correct answer from the options given below:

Sl 916l DIl @ Silel <1 aredl (awpiil) oI Yrgula gamd I :
A. szaret

B. 3ic firet st

C. acilc

D. ssema1 61 Igw

ofial fou a1e frpedl 3 A w1 3@= gok:

[Question ID = 11562][Question Description = 161_49_ARBC_SEP22_S4_Q61]
1. Band D only.
dact B sz D

[Option ID = 16245]
2. Aand D only.
@act A aliz D

[Option ID = 16246]
3. Cand D only.
dact C 3z D

[Option ID = 16247]
4. Band C only.
@Dact B sz C

[Option ID = 16248]

62) The companion of the Prophet (PBUH) Ali bin Abi Talib was
A. a poet

B. a faqeeh (Jurisprudent)

C. muhaddis

D. commentator

Choose the correct answer from the options given below:

UorFaR (31.) B sl srefl forer areft anfera & :
A. ofa

B. weblz (farftromz<fl)

C. gsfear

D. sr=roeR

offa o s1e freeul 3i 21 18t 392 9ol :

[Question ID = 11563][Question Description = 162_49_ARBC_SEP22_S4_Q62]
1. Aand C only.
et A 3iiz C

[Option ID = 16249]
2. Band D only.
@act B iz D

[Option ID = 16250]
3. Band Conly.
@dct B siiz C

[Option ID = 16251]
4. Aand B only.
et A 3 B

[Option ID = 16252]

63) Tribes of Madina supported The prophet (PUBH) were

A. Banu Quraiza



B. Banu Qainuqa
C. Aus
D. Khazraj

Choose the correct answer from the options given below:

TorFar (31.) b RBARRIA ASteT oY Storsuferit (weiet) wlor  ?
A. aq e

B. dq) dojep1

C. 31

D. zerRst

offa 3w s1e freseul 3 21 A1t 392 9ol :

[Question ID = 11564][Question Description = 163_49_ARBC_SEP22_S4_Q63]
1. Cand A only.
@act A siiz C

[Option ID = 16253]
2. Cand D only.
@qct C iz D

[Option ID = 16254]
3. BandConly.
@ddct B sz C

[Option ID = 16255]
4. Aand D only.
Dact A 3z D

[Option ID = 16256]

64) Muhammad Abduh and Sir Syed Ahmad Khan were
A. Politicians

B. Social Reformers

C. Orators

D. Educationist

Choose the correct answer from the options given below:

HBHAG 31656 3R IR IS 3BT Wi A?
A. 3IrST6ler

B. J1@rst JUR®

C. am1

D. forgm-om<ft

offa 3w s1e freeul 3t 21 A1t 392 gol :

[Question ID = 11565][Question Description = 164_49_ARBC_SEP22_S4_Q64]
. Band Aonly.
et A 3z B

1

[Option ID = 16257]
2. Cand B only.
@act B siz C

[Option ID = 16258]
3. Dand Aonly.
@act A sz D

[Option ID = 16259]
4. B and D only.
@dct B 3k D



[Option ID = 16260]

65) Mustafa Kamal was
A. areligious reformer

B. an army commander
C. an educationist
D. a politician

Choose the correct answer from the options given below:

FFAWBI DT =T A ?

A. enfdfe Jur®

B. ¢RI

C. forgm-oma<fi

D. 3rstorar

offa 3w oo freseul 3t 2 A1t 392 9ol :

[Question ID = 11566][Question Description = 165_49_ARBC_SEP22_S4_Q65]

1. Aand B only.
@act A stk B

[Option ID = 16261]
2. Band Conly.
@act B siz C

[Option ID = 16262]
3. BandD only.
@act B iz D

[Option ID = 16263]
4. Aand Conly.
et A 3iz C

[Option ID = 16264]

66) Match List | with List Il

List | IList II

A. Umayyed|. 874-1005 AD

B. Abbarid |[Il. 909-1171 AD
C. Samanid |Ill. 661-750 AD

D. Fatimid [IV. 750-1258 AD
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -1
A. st . 874-1005 .
B. srcart Il. 909-1171 &.
C. womoht IIl. 661-750 &,
D. wiftht IV. 750-1258 &.

ofid f&u sru fapeal 3 A Al IR gfem :

[Question ID = 11567][Question Description = 166_49_ARBC_SEP22_S4_Q66]
1. A-,B-I,C-1I,D-1IV

[Option ID = 16265]
2. A-1IL,B-1V,C-1,D-Il

[Option ID = 16266]
3. A-IV,B-1II,C-1I,D-I

[Option ID = 16267]
4. A-1,B-1V,C-1,D- Il



[Option ID = 16268]

67) Match List | with List Il

List | List Il

A. lhyau Uloomiddin [l. Shah Waliullah

B. Hujjtullahil Balighahlll. Alberuni

C. Kitabul Hind Ill. Ali bin Uthman Hujweri
D. Kashful Mahjub IV. Ghazzali

Choose the correct answer from the options given below:

et -1 B e -1l A g i

et -1 Rreht -

A. wEAIBK:eT IOl I. oz acfl e

B. gssiqiccniac aiferen Il. srerfersoft

C. fparge RBec 1. 3rcfl foor SeaTet Soast
D. wower A3 IV. arstrelt

oif<l feu are fpedl 3 A A8 3R gfore :

[Question ID = 11568][Question Description = 167_49_ARBC_SEP22_S4_Q67]
1. A-NI,B-1,C-1V,D-1

[Option ID = 16269]
2. A-1,B-1I,C-1I,D-IV

[Option ID = 16270]
3. A-IV,B-1,C-1l,D-1ll

[Option ID = 16271]
4. A-1,B-1IV,C-1Il,D-1

[Option ID = 16272]

68) Match List | with List I

List | List Il

A. Bukhari I. Badlul Majhud

B. Tirmizi Il. Fathul Bari

C. Muatta Ill. Tuhfatul Ahwazi
D. Sunan Abu Daud|lV. Al musawwa

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSre :

Rreht - et -1

A. gEarst |. Sccict #Asigs

B. ferfimh 1. wager arft

C. Jarer Ill. gewqe sEacit
D. 3Jirel 3164 <36 1V. srctggeaoar

il fou o1 frseul 3 3 A IR gfor ©

[Question ID = 11569][Question Description = 168_49_ARBC_SEP22_S4_Q68]
1. A-lILB-1,C-I,D-1IV

[Option ID = 16273]
2. A-IV,B-1II,C-1I,D-I

[Option ID = 16274]
3. A-I,B-1I,C-1I,D-IV

[Option ID = 16275]
4. A-11,B-1II,C-1V,D-I



[Option ID = 16276]

69) Match List | with List Il

List | List Il

A. A short history of Saracens|l. Blazri

B. History of the Arabs Il. Abdur Razzaq Kanpuri
C. Futuhul Buldan lll. P.K Hitti

D. Tarikhe Barameka IV. Sayed Ameer Ali

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

e -1 et -1
A. © oré 33} 3if IARAA |. ScIretst

B. 33} 3ifw g szeaT Il. 3reg2 Ioelp Doyl
C. wdga decrol Ill. dia. 38

D. ardia gzaimr IV. 3= iR sreft

oif<l feu oru fedl 3 A 8 3R gfore :

[Question ID = 11570][Question Description = 169_49_ARBC_SEP22_S4_Q69]
1. A-IV,B-1ll,C-1,D-1

[Option ID = 16277]
2. A-1,B-1I,C-1I,D-IV
[Option ID = 16278]
3. A-1L,B-1,C-1V,D-I

[Option ID = 16279]
4. A-1,B-1Il,C-1,D-1IV

[Option ID = 16280]

70) Match List | with List I
List | List Il

A. Ottomons|l. Tehran
B. Qacharieslll. Istambul
C. Mughal [lll. Cairo
D. Fatimid [IV. Delhi
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

e -1 et -1l

A. ST |. d&2re
B. rarst Il. sFaiger
C. @ . wifar
D. wifeit IV, fReett

offc feu aru frpedl 3 3 3 3R gfore :

[Question ID = 11571][Question Description = 170_49_ARBC_SEP22_S4_Q70]
1. A-IV,B-lll,C-1Il,D-1

[Option ID = 16281]
2. A-1,B-1,C-1IV,D- 1l

[Option ID = 16282]
3.A-1,B-1I,C-1I,D-1IV

[Option ID = 16283]
4. A-1L,B-1,C-1V, D-1

[Option ID = 16284]



71) Match List | with List Il

List | List Il

A. Usd al-Ghabah |l. Al-Baladhuri

B. Mujam al-Buldanl|ll. Yaqut al-Hamwi
C. Futuh al-Buldan |lll. Al-Razi

D. Kitab al-Asrar  |IV. Ibn Al-Athir
Choose the correct answer from the options given below:

el -1 @1 3 -1l A Fgaifera Hifste ¢

Rret -1 et -l

A. 3¥c 3rcT aTar |. srcr-acierst

B. 31 31cT geglol Il. A arer-gat
C. ®Bget geclol Il. srer-3rsit

D. fpaiget 3RRR IV. 3o0l sre1-3RIR

offc feu are fpedl 3 A 13l 3R gfore :

[Question ID = 11572][Question Description = 171_49_ARBC_SEP22_S4_Q71]
1. A-IV,B-1,C-Il,D-1l

[Option ID = 16285]
2. A-1L,B-1,C-1V,D-Il

[Option ID = 16286]
3. A-1,B-IV,C-1l,D-1ll

[Option ID = 16287]
4. A-1,B-1,C-1l,D-1IV

[Option ID = 16288]

72) Match List | with List I

List | List Il

A. Tahrike khilaphat [I. Mahmudul Hasan

B. Tahrik Reshmi Rumalll. Muhammad Ali Zawhar
C. Tahrike Ahrar 1Il. Khan Abdul Gaffar Khan
D. Khudai khidmatgar [IV. Obaidullah Sindhi
Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Fafera dbifSie

oxeht - | et -1
A. asfias Racimea |. AEdGeT &30l

B. asdic J9pl e Il. gesarc srcll silsx

C. a3 R Ill. 316t 315geT STWPIR ¥lol
D. xcré RacademR IV. 3&gcen Rioeht

il feu oru famedl 3 A 8 3R gforo :

[Question ID = 11573][Question Description = 172_49_ARBC_SEP22_S4_Q72]
1. A-IV,B-1I,C-1,D-I

[Option ID = 16289]
2. A-1I,B-1IV,C-1,D-1ll

[Option ID = 16290]
3. A-1,B-IV,C-1I,D- 1l

[Option ID = 16291]
4. A-1,B-1I,C-1,D-1IV

[Option ID = 16292]



73) Match List | with List Il

List | List Il

A. Qadsiyah/Iran |l. Tariq bin Ziyad

B. Egypt Il. Muhammad Al-Fateh|
C. Constantinople [lll. Amr ‘ibnul Aas

D. Spain (Andalus)|lV. Sad bin Waqqas
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A R Hife

et -1 Rt -1l

A. @ifeRrn / $ra |. mf¥es fdor Rrag
B. fory Il. 383915 31T Wels
C. o¥dodforn 1. 319 serofct 31
D. el (3iccr) IV. 116 et agorRt

il 3w o1 el 3 A At I gfom :

[Question ID = 11574][Question Description = 173_49_ARBC_SEP22_S4_Q73]
1. A-11,B-1,C-1IV,D -1l

[Option ID = 16293]
2. A-1,B-1I,C-1V,D-ll

[Option ID = 16294]
3. A-IV,B-1II,C-11,D-I

[Option ID = 16295]
4. A-1L,B-1V,C-11,D-1

[Option ID = 16296]

74) Match List | with List Il

List | List Il
A. Al-Tabri I. Fajrul Islam
B. Al-Masudi  |[ll. Tabagat

C. Ibn Sa'ad lll. Murujul Zahab
D. Ahmed Amin|lV. Tarikh ul Tabri
Choose the correct answer from the options given below:

et -1 B e -1l A g e

et -1 Rxeh -1l

A. 3rcT aast |. BorBel 3l
B. 3re1 3IISH Il. aawmra

C. soa1 A . gs1et Sied
D. 3@3c 3Efie IV. ardizger asst

oif<l feu are fpedl 3 A 38 3R gfore :

[Question ID = 11575][Question Description = 174_49_ARBC_SEP22_S4_Q74]
1. A-1,B-Iv,C-1,D-1l

[Option ID = 16297]
2. A-IV,B-1Il,C-11,D-I

[Option ID = 16298]
3. A-1,B-IV,C-1ll,D- 1l

[Option ID = 16299]
4. A-1,B-1,C-1ll,D-1IV

[Option ID = 16300]

75) Match List | with List

List | List I
A. Mutazila |I. Ali Muhammad Bab|




B. Murjiah |ll. Abul Hasan Ali
C. Ashariyah||||. Wasil bin Ata
D. Mahdawi |IV. Jahm bin Safwan
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A R Hife

Rt -1 ozt -l

A. Jirafsten |. arcil #eddic amd
B. gfSter Il. arget g0 arcdl
C. sror3rf¥m 11, anf3ter footr srar
D. siscdl V. Sigar fde1 Arwarer

oii<l feu aru famedl 3 A A8 3R gfore :

[Question ID = 11576][Question Description = 175_49_ARBC_SEP22_S4_Q75]
1. A-Nl,B-1IV,C-1I,D-1

[Option ID = 16301]
2. A-1,B-IV,C-1ll,D-1l

[Option ID = 16302]
3. A-1L,B-1I,C-1,D-IV

[Option ID = 16303]
4. A-IV,B-1I,C-1,D-1Il

[Option ID = 16304]

76) Arrange the following in chronological order
A. Imam Bukhari

B. Ibn Shihab Zohri

C. Imam Muslim

D. Imam Malik

Choose the correct answer from the options given below:

forgaifeiRaa @1 wropAeRIR craf¥ed Hifse ©

A. o gt
B. soo1 191819 Siisst

C. s giica

D. sam aAferd

il fou s1e fraseul 9 3 I Ia= goi ¢

[Question ID = 11577][Question Description = 176_49_ARBC_SEP22_S4_Q76]
1. D,C, A, B

[Option ID = 16305]
2. B, D, A C

[Option ID = 16306]
3. C,A, B, D

[Option ID = 16307]
4. D,B,C, A

[Option ID = 16308]
77) Arrange the following in chronological order
A. Al-Jassas
B. Al-Razi
C. Zamakhshri



D. Al-Tabri

Choose the correct answer from the options given below:

A

B. srcr-Isht
C. Swrzoorst
D. srer-aadt

il feu sru faresedl 3 A A Ia= gol ¢

[Question ID = 11578][Question Description = 177_49_ARBC_SEP22_S4_Q77]
1. D,B,C, A

[Option ID = 16309]
2. C,B,D, A

[Option ID = 16310]
3. A,B,C,D

[Option ID = 16311]
4. B,C, A, D

[Option ID = 16312]

78) Arrange the following in chronological order
A. Omar bin Abdul Aziz

B. Suleiman

C. Walid

D. Abdul Malik

Choose the correct answer from the options given below:

forgatfciiRad I DITRAHGRIR cIaiFerd HIfsH
A. 3312 1901 3reget 31eileT

B. et

C. aciic

D. sreger aifer

offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 11579][Question Description = 178_49_ARBC_SEP22_S4_Q78]
1. C,B,A, D

[Option ID = 16313]
2. B,C,D, A

[Option ID = 16314]
3.D,C B, A

[Option ID = 16315]
4. A,C,D,B

[Option ID = 16316]

79) Arrange the following in chronological order

A. Abu Hanifa



B. Muhammad
C. Jafar
D. Yousuf

Choose the correct answer from the options given below:

fogsifeiRaa @1 eI RIR wralied HIH :
A. g Eoftwr

B. #sdac

C. B2

D. gaw

oiiY feu aru fameal 3 2 A Ia= gol ¢

[Question ID = 11580][Question Description = 179_49_ARBC_SEP22_S4_Q79]
1. B,D,C, A

[Option ID = 16317]
2. C,B,D, A

[Option ID = 16318]
3. AD,B,C

[Option ID = 16319]
4. B,C,D, A

[Option ID = 16320]

80) Arrange the following in chronological order
A. Fatehpur Sikri

B. Humayun Tomb
C. Qutub Minar
D. India Gate

Choose the correct answer from the options given below:

forgotfcii¥aa oI DIIRHGRIR cIai¥erd HifsH
A. wasyz AHiwdt
B. 3aRf @1 dApRT

C. mgudiiolrk
D. 3w sl
oii<l feu are famedl 3 A A3l Ia= ol ©

[Question ID = 11581][Question Description = 180_49_ARBC_SEP22_S4_Q80]
1. D,A, B, C

[Option ID = 16321]
2. C,B,A,D

[Option ID = 16322]
3. A CB,D

[Option ID = 16323]
4. B,D,C, A

[Option ID = 16324]

81) Arrange the following in chronological order



A. Amir Muawiya
B. Walid

C. Adbul Malik
D. Yazid |

Choose the correct answer from the options given below:

forgotfcii¥ad oI DIAIRHAIGRAR caaf¥erd HifsH
A. suile ganf¥an

B. aclig

C. 3roget AfcTd

D. =Eic |

offa fou s1u fyapeul 9 21 &l 3a= goi ¢

[Question ID = 11582][Question Description = 181_49_ARBC_SEP22_S4_Q81]
1. A,D,C, B

[Option ID = 16325]
2. C,D,A, B

[Option ID = 16326]
3.D,B,C, A

[Option ID = 16327]
4. B, D, A C

[Option ID = 16328]

82) Arrange the following in chronological order:
A. Artagral

B. Murad |
C. Bayzid |
D. Urkhan

Choose the correct answer from the options given below:

forgotfcii¥aa oI DIARHGRIR cIai¥erd HifsH

A. 3rdofer

B. prc

C. srsiic |

D. Sassrar

il fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 11583][Question Description = 182_49_ARBC_SEP22_S4_Q82]
1. D,B,C, A

[Option ID = 16329]
2. A,D,B, C

[Option ID = 16330]
3.B,C, D, A

[Option ID = 16331]
4. C,A, B, D

[Option ID = 16332]

83) Arrange the following in chronological order

A. Allama Shibli Nomani



B. Shah Abdul Aziz
C. Shah Waliullah
D. Allama Suleiman Nadwi

Choose the correct answer from the options given below:

forgotfcii¥ad oI DIARHGRIR cIai¥erd HIfsH
A. 3rceman frecil oflerrol

B. 9ms 3reget 3efisT

C. 9ms gciiscenn

D. srccien FAAtol sicdl

il fou s1u freseul 3 21 & 3a= goi ¢

[Question ID = 11584][Question Description = 183_49_ARBC_SEP22_S4_Q83]
1. B,D,C, A

[Option ID = 16333]
2. A,B,D,C

[Option ID = 16334]
3.D,C A B

[Option ID = 16335]
4. C,B,A, D

[Option ID = 16336]

84) Arrange the following in chronological order
A. Razia Sultana

B. lltutmish

C. Firoz Shah Tughlaq

D. Alauddin Khalji

Choose the correct answer from the options given below:

forgsiferRaa @) DIeIpATRIR cal¥-ed HIfH :
A. IRrI Fedaren

B. scqafdrer
C. fb3lsI9ms Gterd

D. sremsglor Raersit
offel feu sru frpedl 3 21 Al = goi ¢

[Question ID = 11585][Question Description = 184_49_ARBC_SEP22_S4_Q84]
1. B,A, D, C

[Option ID = 16337]
2. C,A,B,D

[Option ID = 16338]
3. D,B,C, A

[Option ID = 16339]
4. A, C,B,D

[Option ID = 16340]

85) Arrange the following in chronological order



A. Baghdad
B. Kufa
C. Cairo
D. Ramalla

Choose the correct answer from the options given below:

forsifeiRaa @1 eI RIR wralied HIH :

A. so6I6

B. @w1

C. mifgar

D. m@rcen

oA R s1e Riecdl # A w1 & a2 o ¢

[Question ID = 11586][Question Description = 185_49_ARBC_SEP22_S4_Q85]
1. B,A, D, C

[Option ID = 16341]
2. A,B,D,C

[Option ID = 16342]
3. C,B,D,A

[Option ID = 16343]
4. C,D,B, A

[Option ID = 16344]

86) Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A): Sir Sayyed wrote Aatharussanadeed in Urdu
Reason (R): The theme of Aatharussanadeed is social reform in India

In light of the above statements, choose the most appropriate answer from the options given below:

il 1 werel Ru se 3 : uas @ sifdreret (A) 3iiR g @I dRul (R) a1 srRn &

aifdrperet (A) @ 3R IS of ARIBATGISIS DY Faoll 3G 3 oY

@RI (R) : ARIBIRIEIG &1 ferRI-avq vRd 3 JAATSI JUR UR B 3

IWRfTD Dol B Il 3 oot fravcul 3 A A8l 3ar gol :

[Question ID = 11587][Question Description = 186_49_ARBC_SEP22_S4_Q86]

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).
(A) 3z (R) clail 31t 2 3R (R), (A) &t 3 caren 3

[Option ID = 16345]
2. Both (A) and (R) are correct and (R) is the correct explanation of (A).
(A) 3z (R) clail 31t 2 weag (R), (A) &t 3d =reen ordt 8

[Option ID = 16346]
3. (A)is correct but (R) is not correct.
(A) &t 8 weog (R) it o @

[Option ID = 16347]
4. (A)is not correct but (R) is correct.
(A) 3@t ol 3 weog (R) 2wt 28

[Option ID = 16348]

87) Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A): Nadwatul Ulama was established in response to Aligarh and Deoband movement
Reason (R): Maulana Abul Kalam Azad was one of the main proponents of Nadwatul Ulama

In light of the above statements, choose the most appropriate answer from the options given below:



off< SY perel fRu e 3 1 v bl sifdrperet (A) 3R g @ BRI (R) a1 sk &

sifdraerst (A) : sTcadel Ietan bt Feuel 3icflorg 31z Sads sicicrol @ YegaR 3 o1 a1

@RI (R) : JHicIIol 3ge B SIS slgad eIl B Yga YIdradl 3 A A

IWRITh el B Il 3 forstifpe fracul 3 3 A8l 3a= gl :

[Question ID = 11588][Question Description = 187_49_ARBC_SEP22_S4_Q87]

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).
(A) aiiz (R) cieil 2@t 3l (R), (A) & 3@ careen 3

[Option ID = 16349]
2. Both (A) and (R) are correct and (R) is the correct explanation of (A).
(A) stz (R) cloll 31t 8 udog (R), (A) & 3 wimeen ot 8

[Option ID = 16350]
3. (A)is correct but (R) is not correct.
(A) &t 8 wog (R) &t o1l 8

[Option ID = 16351]
4. (A) is not correct but (R) is correct.
(A) &t otdl 8 weoq (R) &1 2

[Option ID = 16352]

88) Given below are two statements:
Statement I: Founder of Safavid dynasty was Shah Ismael Safawi
Statement II: Shah Ismael Safawi paid no attaention to the propagation of Shia sect

In light of the above statements, choose the correct answer from the options given below:

off< Y Derel fRu se 3 1 v bl sifdrperet (A) 3R g1 @ BRI (R) a1 sRI &

sifdreperet (A) @ AGdL ASTHII B ITATUD 9IS SIS AWl A

@Yl (R) : 9 seasel AGI of 91811 IYGRI B YAR U= BIE erel o1dl &=

IuRfep weroil & Jrcl 3 Peiftca Riascal 3 3 31dl 3as g :

[Question ID = 11589][Question Description = 188_49_ARBC_SEP22_S4_Q88]

1. Both Statement | and Statement Il are true.
(A) iz (R) Soit 21t & iz (R), (A) & A& =meen 3

[Option ID = 16353]
2. Both Statement | and Statement Il are false.
(A) 3iiz (R) ol 3t & udog (R), (A) &t 3@t w=mzn ol 8

[Option ID = 16354]
3. Statement | is true but Statement Il is false.
(A) 3@t 8 wog (R) &t o8l 8

[Option ID = 16355]
4. Statement | is false but Statement Il is true.
(A) 1@ ol 3 weog (R) 2wt 2

[Option ID = 16356]

89) Given below are two statements:
Statement I: Main Proponents of Non Aligned Movement were Jawaharlal Nehru, General Nasir and Tito
Statement II: India chose to play neutral role during Cold War rivalry

In light of the above statements, choose the correct answer from the options given below:

Sfid S werol e sre 3 1w @ sifdraperet (A) 3iiR g1 @t drRuI (R) w1 srn 3

aifdrperet (A) : SIA18 dicl o183, Slolkdl SRR 31k A< 3¢ forRUg! iciciel & Yga ydiad A
@R (R) : ofia g gligiar o Sieret sied of aezer Y3t o1 ol s

SWRITD el B Il 3 oot fracul 3 A A8l 303 got :



[Question ID = 11590][Question Description = 189_49_ARBC_SEP22_S4_Q89]
1. Both Statement | and Statement Il are true.
(A) 3iiz (R) greil 2@ 2 3z (R), (A) & 38 *m=n &
[Option ID = 16357]
2. Both Statement | and Statement Il are false.
(A) 3z (R) clail 31t & weag (R), (A) &t 3 =areen ot 8
[Option ID = 16358]
3. Statement | is true but Statement Il is false.
(A) & 8 weog (R) it ordi @
[Option ID = 16359]
4. Statement | is false but Statement Il is true.
(A) & ol 3 weog (R) 28 3

[Option ID = 16360]

90) Given below are two statements:
Statement I: Revolt of 1857 is considered as the first War of Independence
Statement Il: People fought unitedly under the direct control of a single leadership

In light of the above statements, choose the correct answer from the options given below:

ofI<I 31 ool feu a1e 3 :

Dol - | : 1857 &1 Fifer DY Fadqal B Yee g D 34 3 SIloll Sl &
@l - |l : eIl of Uop Algea ® Yeagl foriqur 3 uab 18 oS oist
SR el @ el 3 forafeliaa fraseul 3 21 21t 392 goi :

[Question ID = 11591][Question Description = 190_49_ARBC_SEP22_S4_Q90]
1. Both Statement | and Statement Il are true.
@erot | 3liz || Seit 18t &

[Option ID = 16361]
2. Both Statement | and Statement Il are false.
@erot | 3liz || Sleil st &

[Option ID = 16362]
3. Statement | is true but Statement Il is false.
@erel | 31 3, fpoqg @eret |l stera 8 |

[Option ID = 16363]
4. Statement | is false but Statement Il is true.
el | 3RII &, fipoqg ®emt || @ @

[Option ID = 16364]

Topic:- 049_UGCNET_SEPT22_S2_PartB

1) Read the passage and answer the following questions

In this period this Umayyad capital took it's place as the most cultured city of the world. With its one hundred and thirteen
thousand homes, twenty one suburbs, seventy libraries and numerous book shops, mosques and palaces, it acquired
international fame and inspired awe and admiration in hearts of travellers. It enjoyed miles of paved streets illuminated by
lights from the bordering house, where as, " seven hundred years after this time thére was not so much as one public lamp
in London and in Paris, centuries subsequently, whoever stepped over his threshold on a rainy day stepped up to his ankles
in mud"

Whenever the rulers of leon, Navarre or Barcelona needed a surgeon, an architect, a master singer or a dressmaker, it was
to Corodova that they applied. The fame of the Moslem capital penetrated distant Germany where a Saxon nun styled it to
"the jewel of the world"

forgaifeiRaa srerior oI ufeu sz 33T [ yesll & a2 SN ¢

33 DIdT 3 3L ISl of faea @ Jaiffres A 9162 B U 3 UGl SPI6 Tl 3Uol TP oIlRA 1R6 8SIR HRI, $ADIR IUGPRI, IR JIAdIcRIl
3z grawml &l 3ol gobrell, ARSICH ud acll @ AT 3ol ARASERT Foafer 3ifSfa &bt sz anfeRil & el 3 forarr vd Yo 3cucer B sardt
fepoIR-fdpoll? @ =Rl A Y19 GRI YSid FHicll WSSt gob siferl off stafs " Al adf & uzard sii 3nfl ao cice 3 vo i Ardsiford gmrer ot
oazen ol oft " sz "afva 3, Al arc off, auf B il A DI 9t Ukl caclisr A a1B SIA &l oA dGIAT IHD cHol Aol DITs I U ST &



S fer3ilel, oraR a1 ail¥fcilel @I Sfacz, ARAPR, Y JIRI® Al a3 fowilar &I smagamar 3idl d A Gdar &l 3k ¥ @ A PR ATl
bl =mfer of ger swlell @l 32 siifer o18Y Yauifere fp=nr b wap Swefor of 331 'fdra @ smsgor’ &t s A fsifta fopn

Assertion(A) : Umayyad capital acquired international fame and inspired awe and admisation.
Reason (R): It had seventy libraries, numerous book shops, mosques and palaces and streets illuminated by the light.

In the light of the above statement, choose the most appropriate answers from the options given below.

il St werol Ru s1e 31 wap @t sifdrperet (A) 3iiR gIR @ dRYT (R) @ar SR 3
aifdrperet (A) : 33 rstenochl of siaRIsERT F=mfer sifSta bt sk ferdrr wd gl
®Rul (R) : A&l AR gramicr, bl &l 3ol gilol, ARSI iR #ecT AT Y19l A YdSid s1icrif off
IWRth DUl B 3rciled 3 forotifepa faraveal 3 A A8 Ia= goi ¢
[Question ID = 11592][Question Description = 191_49_ARBC_SEP22_S4_Q91]
1. Both A and R are correct and R is the correct explanation of A
(A) 3z (R) clell 2@t & 3R (R), (A) &I & e &

[Option ID = 16365]
2. Bolk A and R are correct but. R is not the correct explanation of A

(A) aiiz (R) el 21t & weog (R), (A) b 3 e ot 8
[Option ID = 16366]
3. Ais correct but R is not correct
(A) & 8 wog (R) A& ordt 3
[Option ID = 16367]
4. Ais not correct but R is correct
(A) 1@t ol 8 weog (R) 3wt 2
[Option ID = 16368]

2) Read the passage and answer the following questions

In this period this Umayyad capital took it's place as the most cultured city of the world. With its one hundred and thirteen
thousand homes, twenty one suburbs, seventy libraries and numerous book shops, mosques and palaces, it acquired
international fame and inspired awe and admiration in hearts of travellers. It enjoyed miles of paved streets illuminated by
lights from the bordering house, where as, " seven hundred years after this time thére was not so much as one public lamp
in London and in Paris, centuries subsequently, whoever stepped over his threshold on a rainy day stepped up to his ankles
in mud”

Whenever the rulers of leon, Navarre or Barcelona needed a surgeon, an architect, a master singer or a dressmaker, it was
to Corodova that they applied. The fame of the Moslem capital penetrated distant Germany where a Saxon nun styled it to
"the jewel of the world"

forgoiferR3aa sterior ool ufgu siiz 32R1 FHdfera gesil & Iaz IRRT ©

33 DI 3 3L IASIATA of faea @ FAiffIc AR 96T D WU 3 AUl SPI6 Tl 3ol TP oIlA 1R6 &SIR HRI, $ADIRI IUGPRI, IR JIADICRIL
3k grawl &l 3ol geproil, ARSICH ud Jacll @ AT Sl IFARASERT Foafer 3ifsta bt sz wnfeRil & focll 3 foarr vd yoir 3cucel &1 g9t
fopoIR-fepoIR & TRI A ywpIor GRI YA el Wassn Jgob s1ferit off srafds "wara At auf & utird oft s3nft ao cicer 3 v it wdsifored yarer H
razen ol off " sz "af¥a 3, Al arc oft, auf @ el d DI 97 3ruohl saclisr A a1B2 A & BSH AGIAT IAD W0l cXol blas A ac St &

S fersilet, ofaR a1 ail¥fcilel @I Sfacz, ARGPR, Y IIRID Al a3y forldar &l smagamar didl d a gdar &l ik ¥ @d A PR IsIerc
bl wofer of g Swell I 331 siffer 918Y YaaIfdie b b wap Siefor of 331 'faea @ sagwor &t s A fesyfera fopan

Which city has been described as most cultured city in Europe in the above mentioned passage

SWRITP 3Terol 3 R b1 9182 Bl JRIU D Aaiffies e 962 D Wy I afvfa ez srm 3 ?



[Question ID = 11593][Question Description = 192_49_ARBC_SEP22_S4_Q92]

1. Constantinople

Ggogforn

[Option ID = 16369]
2. Baghdad

d9IGIG

[Option ID = 16370]
3. Cairo

DIf3A

[Option ID = 16371]
4. Cordova
Gefar

[Option ID = 16372]

3) Read the passage and answer the following questions

In this period this Umayyad capital took it's place as the most cultured city of the world. With its one hundred and thirteen
thousand homes, twenty one suburbs, seventy libraries and numerous book shops, mosques and palaces, it acquired
international fame and inspired awe and admiration in hearts of travellers. It enjoyed miles of paved streets illuminated by
lights from the bordering house, where as, " seven hundred years after this time thére was not so much as one public lamp
in London and in Paris, centuries subsequently, whoever stepped over his threshold on a rainy day stepped up to his ankles
in mud"

Whenever the rulers of leon, Navarre or Barcelona needed a surgeon, an architect, a master singer or a dressmaker, it was
to Corodova that they applied. The fame of the Moslem capital penetrated distant Germany where a Saxon nun styled it to
"the jewel of the world"

forgotferRae srerior ol uféu 3iiz IR AHdid gosll & Ia= SR ¢

$1 oIl 3 3l AsIeneil of fava @ Faiferd JA 98T B WU I Uil SPIE Foll$ 3[Uol TD Tl 6 FoIR R, $ADIA IUPRI, IR YFADICRIL
3R gzl &l 36id gololl, ARSIGH ud HAscll B AT 3ol aIsERI enfer sifSfa &l siiz anfeRil & el 3 farIrT vd yoiar Scusal B g3l
fepoIR-fipoIR @ &Rl A Y19l R YSid el WS b aIferit off srafes "aa At auf & utaea oft 3pft ao ccet 3 vo off dsifore yprar &t
wrazen ol eft " iz "afya i, Al arc oft, auf & el i BIF 97 srucht caclisr A aE2 FAA & BSH TFIAT IAD X <Xl Blas A ot ST A

S fersilet, ofaR a1 ail¥fciler @I Siacz, dARA®R, YH IIRID Al a3y feraldar &I smasamar didl dl a gdar &l iz 3 @d & FRra ISt
DI I of gFFer Sioll DI 5 Hilel 3162 YHIf b &b uab Stefol of 31 'faea @ 3meuuT i A A fafte

Which city was described as the "Jewel of the world".
forgsiferae 3 A b1 918 @l 'faa @ sywvT’ @ Wy A afvfa fopar srm 3?

[Question ID = 11594][Question Description = 193_49_ARBC_SEP22_S4_Q93]
1. London

cigoel

[Option ID = 16373]
2. Baghdad

WIGIG

[Option ID = 16374]
3. Cairo

DIf3A

[Option ID = 16375]
4. Cordova
pdar

=)

[Option ID = 16376]

4) Read the passage and answer the following questions



In this period this Umayyad capital took it's place as the most cultured city of the world. With its one hundred and thirteen
thousand homes, twenty one suburbs, seventy libraries and numerous book shops, mosques and palaces, it acquired
international fame and inspired awe and admiration in hearts of travellers. It enjoyed miles of paved streets illuminated by
lights from the bordering house, where as, " seven hundred years after this time thére was not so much as one public lamp
in London and in Paris, centuries subsequently, whoever stepped over his threshold on a rainy day stepped up to his ankles
in mud"”

Whenever the rulers of leon, Navarre or Barcelona needed a surgeon, an architect, a master singer or a dressmaker, it was

to Corodova that they applied. The fame of the Moslem capital penetrated distant Germany where a Saxon nun styled it to
"the jewel of the world”

forgotferRac sterior ol ufeu siiz 33 Hdflrd gsit & Iaz SRRY ¢

$1 oIl 3 39l IAsIeTel of fava @ Faiferd FRA 98T B WU I Uil SPIE Foll$ 3[U6l TD CIRA G FoIR R, $ADIA IUPRI, IR YFADICRIL
3R yzawm! &l 36id gololl, ARSICH ud Hscll B AT 3ol aIsSRI nfer sifia &l siiz anfeRil & el 3 farIrI vd yoiar Scusal B 3t
fepoIR-fipoIR @ &Rl A Y19l GRI Yy el WS b aIferl off srafes "aa 2l adf & gt 9ft 3pfl a® ccet 3 v off dsifore yprar &t
wrazen ol eft " iz "ufya &, Al arc oft, auf & el i BIF 97 srucht caclisr A aE2 FA & BSH TFIAT IAD X X0l Blas 3 ot ST A

S fe13iiel, olaR AT qilkicilol @I Sfac?, aRAPR, YH¥ JIRID Al a3 foriar &I smragamdr gkl dr d qedar &l 3R 33 dd g FR<ra Asienoil
DI T of gzeer Sioll DI 5 Hilel 3163 YHIf b b b Stelol of 31 'faea @ 3myuuT’ i A A faufte o

During the glorious period of cordova which European city had been described as not having "a single public lamp"

qeial @ 3liraygul ®IcT @ SRI6l B 9182 DI T 9 ATdSIoId Y19l Dl SR—IG-2T of ol dlcl 9162 D WU d afvia fopr sri 3 ?
[Question ID = 11595][Question Description = 194_49_ARBC_SEP22_S4_Q94]
1. Barcelona

qif¥fcllon

[Option ID = 16377]
2. Paris

oy

[Option ID = 16378]
3. London

ciGol

[Option ID = 16379]
4. Berlin

afefor

[Option ID = 16380]

5) Read the passage and answer the following questions

In this period this Umayyad capital took it's place as the most cultured city of the world. With its one hundred and thirteen
thousand homes, twenty one suburbs, seventy libraries and numerous book shops, mosques and palaces, it acquired
international fame and inspired awe and admiration in hearts of travellers. It enjoyed miles of paved streets illuminated by
lights from the bordering house, where as, " seven hundred years after this time thére was not so much as one public lamp
in London and in Paris, centuries subsequently, whoever stepped over his threshold on a rainy day stepped up to his ankles
in mud"

Whenever the rulers of leon, Navarre or Barcelona needed a surgeon, an architect, a master singer or a dressmaker, it was
to Corodova that they applied. The fame of the Moslem capital penetrated distant Germany where a Saxon nun styled it to
"the jewel of the world"

forgsifer3aa srerion @l ufee sz IR Adfra yoall @ Ia? SISA ©

33 @Ict 3 3Adl IStenell of faea @ Aaifere A9 9162 B WU I Uil SPIe Joll$ 3ol TP ¢IRA 6 FoIR ERI, $ADRI IUGPRI, IR YIADICRIL
3R grawml & seIe gilell, ARSIGH Td Ascll D AT 3ol aRATA AIfe sifsia o siiz nfeRl @ ol 3 R vd yoiRkir 3cucol &I seret
fepaIR-fdpoll? @ =RI A Y19 GRI YSid FHicll Ssi gob slferl off stafs "Jra Al adul & vird i 3l ao cice 3 vo i Ardsiford gwrer ot
xRIazar ofdl off " iz "af¥r 3, Al arc oft, quf & ol 3t DI 31 sruchl cacllst A a1E2 S &l BGH TGIAI IAD Aol c¥ol DIas 3 oA S A



S fersilel, oran 1 ail¥fciler @I Siacz, aRAPR, Y SIRI® Al a3 fowilar & smavamar aidl a A ddar &l 3k ¥ @d A PR ISt
bl =mfer of ger swlell @l 321 siffer o18Y YauIfere fp=r b wap Spefer of 331 'fdra @ smsgor’ & s A fesifta fop=n

Which famous European city was one of the most backward cities in the world during the glorious period of Umayyad rule in
spain

61 3 3AA 9IRTGT o siivayyf wrer @ Siral forgoiferRaa 3 I Blat AT YRLg JRAURT 92 fra @ aiftrs fss 9sA 3 A vw o ?

[Question ID = 11596][Question Description = 195_49_ARBC_SEP22_S4_Q95]
1. Paris

¥

[Option ID = 16381]
2. Berlin

afefer

[Option ID = 16382]
3. Navarre

o

[Option ID = 16383]
4. Barcelona

qr¥fction
[Option ID = 16384]

Topic:- 049_UGCNET_SEPT22_S2_PartC

1) Read the following passage and answer the questions:

On a hilly terrace on the south-east border of this beautiful city al-Ghalib built on remains of an earlier Umayyad citadel, his
world renowned castle called al- Hamra, the red one, from the red stucco used in its construction and not from his personal
nickname as formerly supposed. Enlarged and further embellished by three of his successors, the Alhamra became one of
the architectural monument of Spain. Standing sentinel over the surrounding plain, like the Aeropolis of Athens, this citadel
palace, with its superb decoration and arbesque mouldings still excites universal admiration. In it the Nashids maintained a
court which revived for a time glory of Muslim spain in Umayyad and Abbasid days. Their patronage of art and learning
attracted many scholars, especially from North Africa. Their encouragement of commerce, notably the silk trade with Italy,
rendered Granada the wealthiest city of Spain.

foraiferiaa srerior @1 eamogd® ufge sz et ufa geall & Jaz ifre

3re1-anferd of Iez 9rs2 cfdvr-ufder e & v sl dd uR yrrel 3l bl & sradrdl Uz sruell fard YRLg 3iel-gIRI oIRids Aacl dolarl, fSrRIaT
onféee MR <iret 3, aeiifes s foraatur 3 eret s/ I gileT fopen sRi o of b yd 3 yafera s3ra Suona & Arear A 33 diol
SARIDIEI GRI 31 uRRafdd ud ISiol-AdRel @ 916 Hcl-8IRI FUl DI dR- U FAR® Joll TIA @ TRIUICRI D Sid, dRI 3R ATl
U2 W3 gu ygd (Aadl), aem Adidad ciavl iR del YR 3IGol B AT AS febcioldl Hael 3M1ST 9l ATHHIHID YoiAT (%) Y ol 8 5AD
iR oIGIf¥RIl o Wb GIaR ol fSITel 3ardl 3iiv sredrRdl IRIcIdbIcl B H¥id Il B slivayui fSoil @I Yersiifad @2 f&ar Iold> el ud Silol @&
JH2LIVT ol 3roIp Rl o, fadraa: sl i & clpll @1 sftia e Jord, aifdsa & Yicarsad, fa9y wu A seclt & e Rice R o
31oIIGI Wl ¥l @ AalfRrd APgorredl o5z @ wu A Rifega fpar

The castle was called AL-Hamra because:

AGCT DI 3cT-BIRA D&l SIAT AT F=AfD

[Question ID = 11597][Question Description = 196_49_ARBC_SEP22_S4_Q96]
1. It was built on a hilly terrace



I8 Uslst ¢lel W oIl o1

[Option ID = 16385]
2. It was the nickname of the ruler

U8 QIRID DI JUolld AT

[Option ID = 16386]
3. Red stucco was used in its construction

AD foraiur 3 eIt ST DI YRileT oIt SR et

[Option ID = 16387]
4. It represented the glory of the ruler

g IIRID D 3113d Pl Ygd Dl AT
[Option ID = 16388]

2) Read the following passage and answer the questions:

On a hilly terrace on the south-east border of this beautiful city al-Ghalib built on remains of an earlier Umayyad citadel, his
world renowned castle called al- Hamra, the red one, from the red stucco used in its construction and not from his personal
nickname as formerly supposed. Enlarged and further embellished by three of his successors, the Alhamra became one of
the architectural monument of Spain. Standing sentinel over the surrounding plain, like the Aeropolis of Athens, this citadel
palace, with its superb decoration and arbesque mouldings still excites universal admiration. In it the Nashids maintained a
court which revived for a time glory of Muslim spain in Umayyad and Abbasid days. Their patronage of art and learning
attracted many scholars, especially from North Africa. Their encouragement of commerce, notably the silk trade with Italy,
rendered Granada the wealthiest city of Spain.

foratferRaa srerior @ eawIyde® ufee siik AFEfi uia yesil & a2 dfm

3re1-anferd of Iez 9re2 cfdvr-ufder e & v sl dd uR yRIel Sl bl & sradrdl UR sruell fard YRILg 3Iel-gIRI oIRics Aadl Jolarl, fSrRIaT
9Nfec TR TIIcl 3, TRIIfP $AD forivT 3 cIret 3K BT YRIST {5 sRI T of {5 gd 3 yafera 1@ Iueie bl Alerdr A 3D ol
SRIDIRI GRI 31 uRRaf$d ud ISiol-AdRoel @ 916 Hcl-8IRI FUl DI dR-CURI FAR® Soll TAA @ TRIUICRI D Sid, dRI 3R JHAdcT
U2 W3 gu ygd (Aadl), aem Adidad ciavl iR del YR 3IGol B AT AB febcioldl Heel 3MST 9l ATHHIID YAt (%) Y o3l 8 5AD
ofi? GIEIRRI of v craR olrn RrRIo! 33l 3R srearfl 9RIeIPT & ARTEI I @ siivaygui el @ Yorsilfa o2 G 3o1d> Pell ud Sl &
32EIUT of 3foib Aol I, fa9ua: Jadt Wi & clivll B BRI b o1, I @ Yicsd, a9 u A seell & rer R <murR of
31oIIGI Wl FWel @ AallRid AGgorredl o5z @ wu 3 Rifeya fvar

AL- Hamra was built by
31cT-5RI oI forattor fosaa aozarm e ?

[Question ID = 11598][Question Description = 197_49_ARBC_SEP22_S4_Q97]
1. Banu Nasr

9o, o]

[Option ID = 16389]
2. AL-Mansur

3CT- 3P

[Option ID = 16390]
3. AL-Ghalib

31ct-anferd

[Option ID = 16391]
4. Murabit dynasty

FRATRIA ASTdr

[Option ID = 16392]

3) Read the following passage and answer the questions:

On a hilly terrace on the south-east border of this beautiful city al-Ghalib built on remains of an earlier Umayyad citadel, his
world renowned castle called al- Hamra, the red one, from the red stucco used in its construction and not from his personal
nickname as formerly supposed. Enlarged and further embellished by three of his successors, the Alhamra became one of

the architectural monument of Spain. Standing sentinel over the surrounding plain, like the Aeropolis of Athens, this citadel



palace, with its superb decoration and arbesque mouldings still excites universal admiration. In it the Nashids maintained a
court which revived for a time glory of Muslim spain in Umayyad and Abbasid days. Their patronage of art and learning
attracted many scholars, especially from North Africa. Their encouragement of commerce, notably the silk trade with Italy,
rendered Granada the wealthiest city of Spain.

forgaifeilRaa srerior ol earegde ufsu iz P« uia yeall @ a2 difsie

3re1-9nfer™ of Fez 9rs2 cfdvr-ufde fien & v sl ddl uR YrIel Sl bl & sradrdl UR sruell fard gRLg sIcl-gIRI oIRIc adl Jolarl, fSrRIeT
9NfeGD TR TIIcl 3, RN $AD fordivT I TIIet 3K DT YRIPT 5T SR T of b gd 31 yafera @ IUeled Dl ATl A IAD dliol
SARARIGIRI GRT 33 ulkafda vd Asel-IAdRal @ d1G 3IcT-33R1 FUel BT aR<- eI AR doil T o TRl @ 33, arl 3R AdAad
U2 TS U ygdl (Aadl), derr Aale IcidvT R el SR 3Gl B AT As [pcloler #aet 3l off Ardsiifdres o (*oran) yra o 3 sad
sfi? SIEIRRI of v craR olrn RrRTol 33l sii? srearfl 9RTeIPT @ AR<E Il @ siivagul el @ Yorsilfa o2 Gr 3o1d> well ud Silel D
3EIUT of 3foi fAgIoll @I, fdiua: sl widI & el DI BRI i o1, I @ Yicdsd, 9™ U A secll & Arer Riced =mur of
31oIIGI @l ¥l @ AdlRRID AGgorredl o152 @ wu d Rifeya fivar

Alhamra had inside the building
31cT BRI 3 9Idel o 3iG2 o ©

[Question ID = 11599][Question Description = 198_49_ARBC_SEP22_S4_Q98]
1. atheatre

RrRIe2 (Ysmers)

[Option ID = 16393]
2. a museum

JieJBICTRT

[Option ID = 16394]
3. apond

IRIaR

[Option ID = 16395]
4. acourt

GAR

[Option ID = 16396]

4) Read the following passage and answer the questions:

On a hilly terrace on the south-east border of this beautiful city al-Ghalib built on remains of an earlier Umayyad citadel, his
world renowned castle called al- Hamra, the red one, from the red stucco used in its construction and not from his personal
nickname as formerly supposed. Enlarged and further embellished by three of his successors, the Alhamra became one of
the architectural monument of Spain. Standing sentinel over the surrounding plain, like the Aeropolis of Athens, this citadel
palace, with its superb decoration and arbesque mouldings still excites universal admiration. In it the Nashids maintained a
court which revived for a time glory of Muslim spain in Umayyad and Abbasid days. Their patronage of art and learning
attracted many scholars, especially from North Africa. Their encouragement of commerce, notably the silk trade with Italy,
rendered Granada the wealthiest city of Spain.

forsiferiiaa srerior @1 eamogdas ufge sz e ufa geall & Jaz SifSre

3re1-9anferd of Iez 9rs2 cfdvr-ufder e & v sl dd uR yrIel 39l bl & sradrel UR sruell fard YRLg 3icl-gIRI oIPids Aadl dolarl, fSreIaT
onfége MR et 3, aeiifes s foraatur 3 ciret s/ @I YileT fopen sRI o1 of b gd 3 yafer s3ra Suona & Arear A 33D diol
FRIDIRRI GRI 31 ulkafdd ud Isiol-AdRel @ 916 3Hcl-5IRI TUl DI aRJ- Ul FR® Joll T @ T@RIUIfCRI @ Sid, dRi 3R Al
U= TS 3T Ygdl (Aa3), aen JAdidd ciavl AR Jc YCoR 3IGol B AT As fcioldr Hacl 1Sl 9l ATHHIPID il (9OREN) I okl & SAD
iR oIIf¥RIl o Wb GIaR ol fSITel 3ardl 3iiv sredrRdl 9IRIcIdbIcT B F¥ld Il B slirayui fSoil @I Yersiifada @2 f&ar Iold> el ud Silol &
JH2EIVT ol 3roId fIgell l, fadraa: sl sruiat & ciiFll @1 seftia e Jord, aifdsa & Yicarsad, fad wu A seclt & e Rices R o
31elIGI Wl Fel @ AalfRrd APgorredl o5z @ wu 3 Rifega fpan

Assertion: Granda was the wealthiest city of spain

Reasoning: Patronage of Art and learning attracted many scholars



In light of the above statement, choose the most appropriate answer from the options given below

il Gt werel Ru s1e 31 uep @t sifdrperet (A) iR gIR @ BRYT (R) @al SR 3
aifdrperet (A) @ SReIGT FUel BT AR WG 9182 AT

®RYI (R) : @cll vd SIrel & ST of 3ol fAGrell @I pftfa fosen

SWRITs el @ el 3 fowotifsd facul 3 A 78 3az ot ¢

[Question ID = 11600][Question Description = 199_49_ARBC_SEP22_S4_Q99]
1. Both A and R are correct and R is the correct explanation of A

(A) aiz (R) cieil 2@t 3l (R), (A) & 3@ caren 3
[Option ID = 16397]

2. Both A and R are correct but R is not the correct explanation of A
(A) aiiz (R) el 21t & w2og (R), (A) b 3 e ot 8
[Option ID = 16398]

3. Ais corect but R is not correct
(A) & 8 wog (R) A& oidt 3
[Option ID = 16399]

4. Ais not correct but R is correct
(A) & ol 8 wog (R) &t 8
[Option ID = 16400]

5) Read the following passage and answer the questions:

On a hilly terrace on the south-east border of this beautiful city al-Ghalib built on remains of an earlier Umayyad citadel, his
world renowned castle called al- Hamra, the red one, from the red stucco used in its construction and not from his personal
nickname as formerly supposed. Enlarged and further embellished by three of his successors, the Alhamra became one of
the architectural monument of Spain. Standing sentinel over the surrounding plain, like the Aeropolis of Athens, this citadel
palace, with its superb decoration and arbesque mouldings still excites universal admiration. In it the Nashids maintained a
court which revived for a time glory of Muslim spain in Umayyad and Abbasid days. Their patronage of art and learning
attracted many scholars, especially from North Africa. Their encouragement of commerce, notably the silk trade with Italy,
rendered Granada the wealthiest city of Spain.

forsaiferRaa srerior ol earogdes ufeu 3R i uia ysll & Iaz difsie

3T~ of SR 9182 SI3UI-UlRia T & o usrst el UR GRIel 33l fdber @ a9l UR 3146l fira giRig 3IcT-331RI Gl Jac JoldRIl, fSRImT
9NfeGd TR TIicl &, TRIIfp $AD foraivr 3 ciret 3K BT YA {51 SR T of fob gd 3 yaferd $d Iueid bl ATl A RAD liol
SRR GrRI 33 ul¥afyd vd IFeiol-Farel @ dIG 3Icl-3#R1 Fol Bl ard-PcdRl IR dol A & TpIaIfera & i, TRl iz AT
U2 TS U Ygdl (Addl), derm Fdlda IciduT iR el GEGR SIGel B AT As [pelold #aet 3l off Ardsiifdies Yol (o) yra &l 3 sad
iR SIGIRRI of Ub <raR Solr RrRTol 3adl sii? srearil orRIeIdIT @ R F6t @ siivagul el @ Yorsilfera a2 fGar 3eid> well ud Silel &
JH2EI0T of 3101 fAgroll @, fadiua: 3adl srwicT @ clell ol snmftia e o, aifdsa & Yicarsd, a9y wu A secfl & arer Ricd R o
SGIIGT DI FUol B AID AHPGITEHl 9162 D +U 3 Rifefa oo

AL-Hamra was built on
31cT-83131 1 forarivr forgsiferiRaa 3 21 fopa1 U= g3 o ?

[Question ID = 11601][Question Description = 200_49_ARBC_SEP22_S4_Q100]
1. a river bank

oIl @ dc W

[Option ID = 16401]
2. a seashore

PG de
[Option ID = 16402]



3. deserted terrain
FBeICTRT 9]- 91101 U2

[Option ID = 16403]
4. remains of an Umayyad citadel

3adl fdber B sradl u
[Option ID = 16404]

Topic:- GP_UGCNET_20SEPT22_SH1_S2_PartA

1)

Passage

Consider the following table that presents the details about the percentage distribution of household expenditure of a family
on various budget heads during the years 2020 and 2021. The total income of the family in the years 2020 and 2021 was X
50000 and X 75000, respectively. Based on the data in the table, answer the five questions that follow:

Budget Head wise Distribution of Expenditure

Yearo
2020 2021
Budget Head |
Entertainment 11% 9%
Health 5% 6%
Clothing 25% 25%
Food 19% 21%
Travel 34% 24%
Others 6% 15%

forgotferRae sterior ol Araemeil A ug iz 3w are geil @ a2

forgaifeiRaa arfereat ur et ifSie, e ad 2020 3iiz 2021 @ Sieral fafdioor gsic ofidf u? v ufvar @ uilRail® ®rI @ ygferora faazor or
ferarur f=m SR 3 aef 2020 3z 2021 3 391 uf¥ar & @et R aerer: 50000 siiz 75000 off 521 anferet @ sridsi @ MR WR ofld e s1e
aid gosll & IR Sifsre

=RI I dgoic oY - ar faazur

ad —
2020 2021

Soic ofid|
FHollstol 1% 9%
FaRe 5% 6 %
T 25 % 25 %
s{ISTol 19 % 21 %
AL 34 % 24 %
3o 6 % 15 %

What was the total amount spent on food in 20207



aef 2020 3 siisiol U= et [paoil 1fd1 @1 w1 [Re sRi e ?

1

[Question ID = 10810][Question Description = 101_00_GP2_SEP22_S2_QO01]
. 9000

[Option ID = 13237]

2. 39500

[Option ID = 13238]

3. 310000

[Option ID = 13239]

4. 10500

[Option ID = 13240]

2) Passage

Consider the following table that presents the details about the percentage distribution of household expenditure of a family
on various budget heads during the years 2020 and 2021. The total income of the family in the years 2020 and 2021 was X
50000 and X 75000, respectively. Based on the data in the table, answer the five questions that follow:

Budget Head wise Distribution of Expenditure

Yearo
2020 2021
Budget Head |
Entertainment 11% 9%
Health 5% 6%
Clothing 25% 25%
Food 19% 21%
Travel 34% 24%
Others 6% 15%

forgotferR3ae sterior ool Araensit A ue 3z Xu are gl @ a2 ¢

forgaiferRaa aiferet uR earat difsie, SRl ad 2020 3z 2021 & Sierat fafteot soic ofiuf Ur v uftar & ulRailRe =r1 & yferor faarur @1
ferazur &= s @ ad 2020 siiz 2021 3 51 ui¥ar &l aget 31 agrer: ¥50000 3iiz ¥75000 eff 321 aferat @ siws] @ 3neR WR ol fdu a1
aid gesll @ 3= Sifsre

XRRI @l goic 9fid - ar faazur

adf —
2020 2021

oic ofid|
FolISTol 1% 9 %
AR 5% 6 %
axq 25 % 25 %
afisTol 19 % 21%
AT 34 % 24 %
3T 6 % 15 %

For which of the following budget heads did the family spend more amount of money in 2021 than they spent in 2020?
A. Health

B. Clothing

C. Travel

Choose the correct answers from options given below:



forgsiferi¥aa 31 A ss1c @ fepot ofidf 3 531 uf¥ar of 2020 3f Rpw 31w RRIT DY getorr 3 2021 3 sifre =r1 fpar ?

A. Farea

B. @=>q

C. argr

ofla feu s1u famcul 3 A A8 33 D1 RIS HIRA :

1.

[Question ID = 10811][Question Description = 102_00_GP2_SEP22_S2_Q02]

A only
Dact A

[Option ID = 13241]

2. Bonly

Dact B
[Option ID = 13242]

3. Aand B only

Dact A iz B
[Option ID = 13243]

4., A,BandC

A, B C
[Option ID = 13244]

3) Passage

Consider the following table that presents the details about the percentage distribution of household expenditure of a family
on various budget heads during the years 2020 and 2021. The total income of the family in the years 2020 and 2021 was ¥
50000 and X 75000, respectively. Based on the data in the table, answer the five questions that follow:

Budget Head wise Distribution of Expenditure

Yearo
2020 2021

Budget Head |
Entertainment 11% 9%
Health 5% 6%
Clothing 25% 25%
Food 19% 21%
Travel 34% 24%
Others 6% 15%

foraotferR3aa srerior @l Aracmell A ud 3z 3w 318 gl & Ia= &

forgarfeiRaa arferat Uz et ifSie, e ad 2020 3iiz 2021 o Sivral fafdioor gsie ofiuf u? v ufvar @ ullRai® ®RI & yfergra faaor or
foraeur &2 s & adf 2020 3iiz 2021 3 531 uf¥ar & ger smRr ageror: I50000 siiz 75000 off g1 anferat @ siipst @ MeR WR ofld e a1
aid gesll & R Sifsre

=RI @I dgoic oY - ar faazur

ad —
2020 2021

goic ofid|
FolTSTol 11 % 9 %
AARLA 5% 6 %
ax 25 % 25 %
e 19 % 21%
AT 34 % 24 %
31ooa 6 % 15 %




What is the increase in the amount of money spent on the health budget head from 2020 to 2021?

Fared @ osic it uz 2020 3i &R1 &Y 31$ A1 &Y detont 3 2021 I feperoil fdr oY giys &5 ?

[Question ID = 10812][Question Description = 103_00_GP2_SEP22_S2_Q03]
1500 [Option ID = 13245]
% 2000 [Option ID = 13246]
% 2500 [Option ID = 13247]
1750 [Option ID = 13248]

A W N -

4) Passage

Consider the following table that presents the details about the percentage distribution of household expenditure of a family
on various budget heads during the years 2020 and 2021. The total income of the family in the years 2020 and 2021 was X
50000 and X 75000, respectively. Based on the data in the table, answer the five questions that follow:

Budget Head wise Distribution of Expenditure

Yearno
2020 2021
Budget Head |
Entertainment 11% 9%
Health 5% 6%
Clothing 25% 25%
Food 19% 21%
Travel 34% 24%
Others 6% 15%

foraotferRaa srerior @l Arasmell A ud 3iiz 3y o1g gl & Iar

forgotferR3aa arferet uz et difsie, el ad 2020 iz 2021 & Sierat fafieot dsic ofiul Uz v ufvar & wi¥aii¥es w=r1 & yferora faazor ot
foraeur o s & adf 2020 3iiz 2021 3 591 uf¥ar & gaer mRr aggror: Y50000 siiz 75000 off g1 anferast @ siipst @ MeR WR ofld e s

i gesil & Jaz ke

=RI @I goic oY - ar faazur

ad —
2020 2021

gaic ofid]|
FolITSIol 11 % 9 %
AARLA 5% 6 %
T 25 % 25 %
afisTol 19 % 21%
AT 34 % 24 %
A 6 % 15 %

What is the ratio of total amount spent on Travel by the family in 2020 to that in 2021?

33 ufrar grt 2021 51 qoterr 3 2020 3 A1y UR RRI oY 31§ a3et A1 BT 3IGIUId TRIT & ?

[Question ID = 10813][Question Description = 104_00_GP2_SEP22_S2_Q04]
16 : 17 [Option ID = 13249]
18 : 17 [Option ID = 13250]
17 : 18 [Option ID = 13251]
17 : 16 [Option ID = 13252]

A W N -



5) Passage

Consider the following table that presents the details about the percentage distribution of household expenditure of a family
on various budget heads during the years 2020 and 2021. The total income of the family in the years 2020 and 2021 was X
50000 and X 75000, respectively. Based on the data in the table, answer the five questions that follow:

Budget Head wise Distribution of Expenditure

Yearo
2020 2021
Budget Head |
Entertainment 11% 9%
Health 5% 6%
Clothing 25% 25%
Food 19% 21%
Travel 34% 24%
Others 6% 15%

frastferRaa srerior @ Arasmell A ud 3iiz Y o180 gl & Iz

forgoiferRaa arferet uz et difsie, Sl ad 2020 3iiz 2021 & et fafieo! gsic ofiul Uz v uftar & wlkai¥es =r1 & yferora faawor ot
foraeur fom s & adf 2020 3iiz 2021 3 591 uf¥ar & get I agrer: 50000 siiz 75000 off 521 anferast @ sridpst @ MR WR ofld e st
aid gosil & Iar Sifsre

=RI oI goic ofid - ar faazur

adf —
2020 2021

aoic ofid|
FolIFSTol 11 % 9 %
AR 5% 6 %
] 25% 25 %
affsTol 19 % 21%
AT 34 % 24 %
e 6 % 15 %

What is the difference in the amount of money spent on Entertainment and Food together during the years 2020 and 20217
ad 2020 3iiz 2021 @ Sizrel HellSIel 3i1R HISTel UR fIrcid? fpu 31w @RI oY AfI1 BT 3R a= & ?

[Question ID = 10814][Question Description = 105_00_GP2_SEP22_S2_QO05]
% 6500 [Option ID = 13253]
% 7000 [Option ID = 13254]
% 7500 [Option ID = 13255]
% 8000 [Option ID = 13256]

A w N =

Topic:- GP_UGCNET_20SEPT22_SH1_S2_PartB

1) Which of the following need to be inculcated for developing 215t century skills of students by a teacher?
A. Creativity

B. Rote-learning

C. Critical thinking

D. Life-long learning

E. Learning only for examination



Choose the correct answer from the options given below:

fep=it fArgrm IRt ferenfRRil 3f 214t a1t @ Diere fawra @ fere forarferRaa 3 3 o o= g6RisTa dIdrel B Ma9ADT & ?
A. JSTollcaAdar

B. o

C. scilaeiicad Riedot

D. Shtaeraia sif2erer

E. daer udign & e sif2emr

offa o s1e freseul 3f 21 13t 392 9ol :

[Question ID = 10815][Question Description = 106_00_GP2_SEP22_S2_QO06]
1. Aand Conly
@dact A 3iiz C

[Option ID = 13257]
2. BandE only
@act B sz E

[Option ID = 13258]
3. A, Cand D only
@dact A, C iz D

[Option ID = 13259]
4. A, Cand E only
@dact A, C iz E

[Option ID = 13260]

2) Which of the following is INCORRECT regarding CBCS?

2t <t 2ft w1 & e 3 foafeRaa 3 2 o= s1cra 3 ?

[Question ID = 10816][Question Description = 107_00_GP2_SEP22_S2_QO07]
1. CBCS is a framework to provide choices for electives and optionals to students.
2t ot 2ft v faenffel ot YR sl ddfcud ARl o1 ey Ygrol w20l BT v DR siar 3

[Option ID = 13261]
2. CBCS can be implemented only through online programmes.
2t oft 2ft vr DY Daet sifolcisor BRId B e A dRIifod faser s Adar 3

[Option ID = 13262]
3. MOOCs can be used to provide choices for CBCS by institutions.
Jizereil gt 2 | 2t v @ e ey Sat 3q s (MOOC) bt yeiter fdpen St Jfaber 3

[Option ID = 13263]
4. Generic Electives and skill enhancement courses are provided under CBCS framework.
3t ot 2ft vt orf B B siceld Aeie BRe® 3l Bl fABRI UGt Yglol e ST &

[Option ID = 13264]

3) Why should a student not be punished severely?

fop=fi feeneft @1 ®31 <3 =il ol Son anfdw ?

[Question ID = 10817][Question Description = 108_00_GP2_SEP22_S2_QO08]
1. He/she may leave the institution and join another.
qg JFerel BIsd? bt sreer et 3 yder e Jabdr/ Al 3

[Option ID = 13265]
2. He/she may quarrel with the teacher.
qag forera A SEIST B2 Achl/ Adbcdl 3

[Option ID = 13266]
3. Parents of students may complain about the teacher.
fRreneff @ airar-fian fSrer 6t fOrprRIA B2 Ada &

[Option ID = 13267]
4. The student may develop a negative attitude towards his/her studies, teachers and institution.
fRremeff sruot sieRRIel, {9181 3l JAellol D Yfel UD GIPRIHAD ¢IRUI Joll AbAl/ Adedt &



[Option ID = 13268]

4) What are OERs?
‘MER MBS ?

[Question ID = 10818][Question Description = 109_00_GP2_SEP22_S2_Q09]
1. Open Educational Resources
3liuel Bgjdlorel RARRT

[Option ID = 13269]
2. Open Examination Resources
3liuel uashfdeieel RARRL

[Option ID = 13270]
3. Online e-learning Resources
siforetrsot § - cifofr 3t

[Option ID = 13271]
4. Online Educational Resources
Sifolctrsel Todorelel FARRT

[Option ID = 13272]

5) LMS is a software application used for the

uet ua oA forotfeilRaa 3f 3 feparad fere gRIteT bl Siret arcfl FHiwedRR vrefiddoret & ?

[Question ID = 10819][Question Description = 110_00_GP2_SEP22_S2_Q10]
1. Administration, documentation, tracking, reporting and delivery of educational courses
8101 urcRIapd! D1/ Bt YoIRIel, GIASiduI, ¢fdbel, ygridm3ur 3k Beffast

[Option ID = 13273]
2. Authentication, documentation, transfer, reporting and designing of educational courses
918101 UIGRIAL DI fAYHIUIGT, SIASIDUI, A0, Ydlaur 32 sifdreuot

[Option ID = 13274]
3. Administration, documentation and depository of e-resources
$ - JRIRIGH BT YOIRIol, GIAMISIDUI 3iR forgiumme

[Option ID = 13275]
4. Authentication, reporting, analysis and depository of e-resources
$ - MGl @ SifiyeIvel, gegdiaur, et sl foreumme

[Option ID = 13276]

6) Which of the following are true in the case of participatory observation method?
A. The apparently obvious incidents can be overlooked.

B. It is a good method to study the daily operations of organisations.

C. The decision-making process can be observed.

D. With this method, an organisation's social meaning can be studied.

E. One can pretend to be a natural member of the group.

Choose the correct answer from the options given below:

ARl YgIvr ugfer @ aAerc A forefciRaa 3 A wlol - wior A1 381 3 ?

A. Fucca: Farnfie acensil B sl bt o A 3

B. 1z Je10061l @ Sfords Yarctoll o 31eRIol ® fere Jaar ughea 3

C. forvfer cror &bt yfdpzm a1 Ygivr fosen st Amar 3

D. 531 ugfer A fopft Jie1001 D ARMISIE 3ref @I s1eRIor fdbar ST ADar 3

E. ®IF 3z oI Fapifdd AR Blol @I RieAsa? o2 Addr 3

il fou s1e fraseul 9 3 W& 3a= goi ¢

[Question ID = 10820][Question Description = 111_00_GP2_SEP22_S2_Q11]



1. A, BandConly
Dact A, B siiz C

[Option ID = 13277]
2. B, Cand D only

@dac B, C sfiz D

[Option ID = 13278]
3. C,DandE only

@act C, DalR E

[Option ID = 13279]
4. A, BandE only

Paet A, B 3l E
[Option ID = 13280]

7) Given below are two statements
Statement I: For a small number of samples, the sampling distribution of means is approximately, a normal distribution.

Statement Il: In case the population is normally distributed, the sampling distribution of means is also normally distributed,
even for a small number of samples.

In light of the above statements, choose the most appropriate answer from the options given below

offax <1 werel fGu sre 3 :

e - | : gftrgeff o5t avar sizean @ fere, amezil o1 yfercof farazur cremsiet Amre=n farazor dxar 3

Do - |l : afe Sorizen ARe: U A At a1, al yficot o1 o Jwn @ oo off el o1 yfercol firasur et a2 3t faafya siar 3
IURETD ereil @ 3l 3, forarfeRaan faseal 3 21 et U 372 gpol :

[Question ID = 10821][Question Description = 112_00_GP2_SEP22_S2_Q12]
1. Both Statement | and Statement Il are correct
ool | 3R || Sreil 35t &

[Option ID = 13281]
2. Both Statement | and Statement Il are incorrect
werat | 3z |1 Sloil arere &

[Option ID = 13282]
3. Statement | is correct but Statement Il is incorrect
Dol | 38t 3, ot werer || sreta 3

[Option ID = 13283]
4. Statement | is incorrect but Statement Il is correct
Dol | steta &, cifcbor weret || 31 3

[Option ID = 13284]

8) Given below are two statements

Statement I: Codes of ethics are formulated to regulate the relations of researchers to the people and fields they intend to
study.

Statement II: All the risks involved in the study need not be explained to the participants in advance.

In light of the above statements, choose the most appropriate answer from the options given below

il Y werol feu a1 3 :

Do - | : Sifer AR Afdam oNermaisii d el 3R JoId 31eRIel @ fere afdra il A del B fRorRIfa dol @ feru Jord it 3
werot - |l @ 3rezrIor 3t onfdret 213t SNRawl B an f et TsPRIT DY B WU A ScdToll TARAD oldl T

Suefes weril B arciie 3, RrerfiRaa Riwedl 3 3 F€3 Sugw a2 gol :

[Question ID = 10822][Question Description = 113_00_GP2_SEP22_S2_Q13]
1. Both Statement | and Statement Il are correct
el | 3z || el 20t &

[Option ID = 13285]



2. Both Statement | and Statement Il are incorrect
werat | 3z |1 Slail steta &

[Option ID = 13286]
3. Statement | is correct but Statement Il is incorrect
Dol | 38t 3, ciftbar werer || steta 3

[Option ID = 13287]
4. Statement | is incorrect but Statement Il is correct
Dol | ateta &, cifcbor weret |l 31 3

[Option ID = 13288]

9) Given below are two statements
Statement I: The panel design influences the statistical analysis in research.
Statement II: The panel design does not suffer from the issue of mortality.

In light of the above statements, choose the correct answer from the options given below

ofil &1 werer Ru sme 3 :

@l - | : Yotet 1 siffrpeuat (f3smmsor) oner 3 ARSI fredsuor @1 Ysnfara wzar 3
@erol - || : Sorer o1 f3onsa siforerar &t Ja=1 A s odl alar &

IWRITp el @ el 3, HreifiiRaa fcul 3 A & 3= gol ©

[Question ID = 10823][Question Description = 114_00_GP2_SEP22_S2_Q14]
1. Both Statement | and Statement Il are true

@erol | 3l | Qall e &

[Option ID = 13289]
2. Both Statement | and Statement Il are false

Dol | 3R || Slell 3RIeT &

[Option ID = 13290]
3. Statement | is true but Statement Il is false

Dol | 3 8, afdpel werl || 3RIeT 3

[Option ID = 13291]
4. Statement | is false but Statement Il is true

el | srRicT 8, difdpor @werat || 31cer 3

[Option ID = 13292]

10) Which of the following are VALID reasons for 'Literature Review' in research?

A. It shows the present status of knowledge in the field of research so that the significance of the proposed research question
is clear.

B. It gives a correct context to the scope of the work proposed in the thesis.
C. It demonstrates the scholarliness of the thesis writer.
D. It fills the minimum page requirement for a thesis.

Choose the correct answer from the options given below:

forgorferfRad & A ol - ot A oiter 3 " A wfien " B Jer BRI S ?

A. oner B 8Xqy It sirel Y adarret Rafdr gerfer sion aifes e oner yeot T digcd Fuse 3l S
B. oiter - sfer 3 granfaa orf & SRR ®1 A& s o

C. oiier - 3jer Aaas bt Rigar oY yefia wwon

D. fep2fi oner - sjer @ fére yoal o1 oeleid 3MASI DI YA Dol

offa fou s1e freseal 3 A wd Ja= gol :



[Question ID = 10824][Question Description = 115_00_GP2_SEP22_S2_Q15]
1. Aand B only
Dact A 3z B

[Option ID = 13293]
2. Cand D only
@act C iz D

[Option ID = 13294]
3. Aand Conly
@act A siiz C

[Option ID = 13295]
4. Band D only
@act B sik D

[Option ID = 13296]

11) According to the stimulus-response model, all communication is a/an process.

IEuot - sioIfepRi gfereu & eI Asl JIeuuT v qfp 3

[Question ID = 10825][Question Description = 116_00_GP2_SEP22_S2_Q16]
1. Collective

AED

[Option ID = 13297]
2. Individual
Jafepd

[Option ID = 13298]
3. Impersonal
3R - b

[Option ID = 13299]
4. Massive
3iferoRT

[Option ID = 13300]

12) Given below are two statements
Statement I: In communication, language involves different degrees of identification for generalisation.

Statement Il: Abstraction is described as a process of leaving out details and for effective communication, an awareness of the
details left out is necessary.

In light of the above statements, choose the most appropriate answer from the options given below

ofi< 51 weret fGu are 3 :
ol - | : JFHoT 3 srer 3 ARIeAEB0T B fore usarst ot et ArgIe onfirer axchl 3

@l - || : 3pEgfefaur o1 813 318 frazur o1 v yfign @ a3 quier fop=a sirar 3 3iiR geiraenicil JA3Yuul @ e 8IS 318 a1 ! Siielol @ dR 3 SIPRed AT
TAADB 3

IWRITD DUl D 3IcllD 3, forgeifeiRaa fapeul 9 A AR IuYed 342 ol :

[Question ID = 10826][Question Description = 117_00_GP2_SEP22_S2_Q17]
1. Both Statement | and Statement Il are correct
el | 32 || grail 2t &

[Option ID = 13301]
2. Both Statement | and Statement Il are incorrect
el | 3tz || SYall srera &

[Option ID = 13302]
3. Statement | is correct but Statement Il is incorrect
Dol | 38t 3, ot werer || stet 3

[Option ID = 13303]
4. Statement | is incorrect but Statement Il is correct
el | ateta 3, cifcbor werer || 31t 3

[Option ID = 13304]



13) The disadvantages of Aristotle's model of communication are:
A. Weak encoding

B. Audience created content

C. One-way communication

D. Stress on the speaker

E. Ignorance of noise

Choose the correct answer from the options given below:

3R, @ AFYUUI Yfersu 3 zafern 3 ¢
A. @IEir fRaest

B. ofiar grI M fawRarq

C. UHARGI JAFYHUT

D. a1 uz 3R
E. ok A spoiférstar
il fou s1e fraseul 9 3 & 3= goi ¢
[Question ID = 10827][Question Description = 118_00_GP2_SEP22_S2_Q18]
1. Aand B only
et A 3l B

[Option ID = 13305]
2. BandConly

Dact B sz C

[Option ID = 13306]
3. A, DandE only

dact A, D3R E

[Option ID = 13307]
4. C,DandE only

et C, D s E
[Option ID = 13308]

14) Given below are two statements
Statement I: Mediated communication flourishes in a free and democratic environment.
Statement II: Power distortions always affect the flow of communication, whatever may be the political system.

In light of the above statements, choose the most appropriate answer from the options given below

ofI< 31 werel fGu are 3 :

Dol - | : =rafda FFYuvT b b AR clipdifefe arararul 3 Geldr-Berdl 3

D - |l : orftp Adell fRipfern A¢aT FFYUVT B b Yars B Yerfad ol 3, o1t 31 Asolifera crazen oif sfi a1
IWRITD el B Il 3, forreifiRaa fraedl 3 A A YT Ia= ol

[Question ID = 10828][Question Description = 119_00_GP2_SEP22_S2_Q19]
1. Both Statement | and Statement Il are correct
@erot | a2 || Sl 218t &

[Option ID = 13309]
2. Both Statement | and Statement Il are incorrect
@erot | 3iiz || Sleil st &

[Option ID = 13310]
3. Statement | is correct but Statement Il is incorrect
el | A8t 3, fdbor werer || stete 3

[Option ID = 13311]



4. Statement | is incorrect but Statement Il is correct
Dol | steta &, cifcpor weret || 31 3

[Option ID = 13312]

15) Match List | with List Il

List | List Il

Type of Communication Example

A. Intra-personal |. Face-to-face

B. Group communication Il. Satellite television
C. Transactional lll. Meditation

D. Massive IV. Board meeting

Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Fafera bifSie

et -1 et -l

RIFYHUT B YD R{orealy ]

A. 3icT - Jaftod |. 3maret - A

B. Jggs Jsguul Il. JAeerrse eefiferer
C. JdRIasR 111, 3roto1

D. siferort IV. a1 &t Jo

oif<l feu aru famedl 3 A A8 3R gfore :

[Question ID = 10829][Question Description = 120_00_GP2_SEP22_S2_Q20]
1. A-1,B-1I,C-1V,D-1l
[Option ID = 13313]
2. A-Il,B-1IV,C-1ll,D-1
[Option ID = 13314]
3. A-llLB-IV,C-1,D-1

[Option ID = 13315]
4. A-IV,B-1,C-1l,D-1l

[Option ID = 13316]

16) If the letters in word 'POWERFUL' are rearranged as they appear in the order of English alphabet, then position of how
many letters will remain unchanged?

afe ' POWERFUL ' 91s5 31 318RI @Y 331 @3 3 Yol: 31 ST Si1 fp @ 3isysil auiaren 3 3, aa Rpdel sigrl @1 Ferre smaf¥afefa 8sm ?

[Question ID = 10830][Question Description = 121_00_GP2_SEP22_S2_Q21]
1. One
oh

[Option ID = 13317]
2. Two
al

[Option ID = 13318]
3. Three
it

[Option ID = 13319]
4. More than three
cltor 31 aiferd

[Option ID = 13320]



17) L 1
i 3718~ 02689_ then find the value of 0.0003718

1 3 i ,
alg 3775 =0.2689 8, 9 Gggoa7ig B A Fadl

[Question ID = 10831][Question Description = 122_00_GP2_SEP22_S2_Q22]
0.02689 [Option ID = 13321]

2689 [Option ID = 13322]

26.89 [Option ID = 13323]

268.9 [Option ID = 13324]

A W N -

18) Find the wrong term in the series given below:

15, 16, 22, 29, 45, 70,...

35 310 31efapa 3 ITeld UG & :
15,16,22,29,45,70

[Question ID = 10832][Question Description = 123_00_GP2_SEP22_S2_Q23]
22 [Option ID = 13325]
70 [Option ID = 13326]
29 [Option ID = 13327]
16 [Option ID = 13328]

AW N =

19) A man has to cover a total distance of 24 km. He observed that after walking for one hour and 40 minutes, the distance
covered by him is 5/7 of the remaining distance. What was the speed of the man in km/hr?

g =P dl @t 24 [p.3fl. ¢l @RI Dl 3 cafep ol Sar fib g et 3hiz 40 fIrolc A ctol D dIc, IAD ERI I D 91 ¢dl AW gfl o1 5/7 3 39 =afep b
a1fer fop. 3./ wier Y g2 A fpaoil off ?

[Question ID = 10833][Question Description = 124_00_GP2_SEP22_S2_Q24]
7 [Option ID = 13329]
5 [Option ID = 13330]
6 [Option ID = 13331]
8 [Option ID = 13332]

A W N -

20) By how much above the cost should the goods be marked for sale, so that after allowing 2 trade discount of 2G% and a
1
cash discount of ﬁ; %, a net gain of 20% on the cost s made?

- o o r 3 : (v} = i : 3 =2
TRGSH 1 ) @ g TTa & (e e SiAG Siiad 3 Wl S16E, die 20 % B YR ge 3R 03 % 31 78 ge &
& S1G, TTd 9 20 % &1 Faw o s el 86 7

[Question ID = 10834][Question Description = 125_00_GP2_SEP22_S2_Q25]
1. 60% above the cost
oK 3 60 % sifers

[Option ID = 13333]
2. 40% above the cost
oK 3 40 % sifers

[Option ID = 13334]
3. 50% above the cost
aerd 3 50 % sifers

[Option ID = 13335]
4. 55% above the cost
oI A 55 % sifeis

[Option ID = 13336]

21) In classical square of opposition, if 'No S is P' is given as true, then which of the following could be immediately inferred
from it?



.'Some S is P' is undetermined
'All S is P' is false
.'Some S is not P' is undetermined

.'Some S is P' is false

m o O @ »

.'Some S is not P' is true

Choose the correct answer from the options given below:

feRter @ aenf3rdl e 3 Al A8t & wu 3 "©IE S, P ordl &' f&an a1 & dl 53131 forgoferiiaa 3 A DIGRAT 3glel deadIcl CRIRI ST ADAT & ?
‘oo S, P ¥, afdrerifa 3
asfi S, P s @

‘T S, P ol ¥, afererfya 3

°© 0w >

‘g S, P 3, RIca 3
E.'©s S,P ol g3
off<l fu are frapeul 31 3 218l 302 ol :

[Question ID = 10835][Question Description = 126_00_GP2_SEP22_S2_Q26]
1. A, BandE only
dact A, B3z E

[Option ID = 13337]
2. B, Cand D only
@act B, C iz D

[Option ID = 13338]
3. B, DandE only
@act B, D sz E

[Option ID = 13339]
4. A, Band D only
@act A, B 3k D

[Option ID = 13340]
22) An informal fallacy in which one moves carelessly from individual cases of a given class of persons or things to all the
members of that class is called:
A. Fallacy of Division
B. Fallacy of Converse accident
C. Fallacy of Slippery Slope
D. Fallacy of Accident
E. Hasty generalisation

Choose the correct answer from the options given below:

SIGIPIE® Ad oIy R oI wftp 6w a1 fth srerar avq Adge @ fafdrse aAmret A 39 aof @ it A5l a® sRIEETl gda ael Sirdr 8 3 fomarfeRaa
@Bl Sl 3

A. RrSTel 1 ad S

B. farciier J=01e1 b1 das iy

C. fi53IcTol Y7 Gellol BT a® S
D. Zi=ie1 &1 ads Qg

E. ofig rerrofia=ur

il feu are ferapeul 3 3 3l 302 ol :
[Question ID = 10836][Question Description = 127_00_GP2_SEP22_S2_Q27]
1. Band E only

Dact B sz E

[Option ID = 13341]



2. Conly
et C

[Option ID = 13342]
3. Eonly
et E

[Option ID = 13343]
4. CandE only
@act C iz E

[Option ID = 13344]

23) Given below are two statements
Statement I: Analogical argument is a type of inductive argument.

Statement II: In an analogical argument, it is concluded that two entities alike in some respects, are therefore alike in some
other respect.

In light of the above statements, choose the most appropriate answer from the options given below

il QY werol feu a1 3 :

DU - | : ARAIYCTD AD TD YPR DI IPRHATCHD D 3

@t - | : ArEoAcTD ads i Az forswl fSrmren Sirdr 3 b @y s1eif 3 JAAToT <1 avq BB 3o ek 3 off IO E
IuRfeD Derclt @ aTeitas 3, Prerfiad fiacdl 3t 3 a3 IR Iz got ©

[Question ID = 10837][Question Description = 128_00_GP2_SEP22_S2_Q28]

1. Both Statement | and Statement Il are correct
el | 32 || el 21t &

[Option ID = 13345]
2. Both Statement | and Statement Il are incorrect
el | 3R || Sletl arera &

[Option ID = 13346]
3. Statement | is correct but Statement Il is incorrect
ool | 318 3, cifdbar werer || stet 3

[Option ID = 13347]
4. Statement | is incorrect but Statement Il is correct
Dol | steta &, cifcpor werat || 31t 3

[Option ID = 13348]

24) Given below are two statements
Statement I: According to Classical Indian School of Logic, proof of a statement is given with the help of a syllogism.

Statement II: According to Classical Indian School of Logic, the thesis has to be mentioned thrice as a hypothesis, second as
an example and third as a conclusion.

In light of the above statements, choose the correct answer from the options given below

ofI<I 31 werel fGu a1 3 :
@l - | : IR HIRARI ad 3Id D 3IGRAR bl Deret o1 Y sarmara (Ricilfsza) ol Jsriar A = sirer 3

@l - |l : ol HRARI A 31d @ IUGRIR, YferslT &1 3ccid diel dIR fp=11 SIiell 3a9ae® & usell Ul¥dcusit @ WU 3, GIRI IGIET B WU 3 3R dhrr
forcoodt @ a3

IWRfTs Berell B el ¥, orerfcRaa faascul 3 2 7181 3a= ot :

[Question ID = 10838][Question Description = 129_00_GP2_SEP22_S2_Q29]
1. Both Statement | and Statement Il are true
Dot | 3R || el 3t &

[Option ID = 13349]
2. Both Statement | and Statement Il are false
@l | 3R || Slell 3RIeT &

[Option ID = 13350]
3. Statement | is true but Statement Il is false



el | AT 2, Afdpor werol |1 3RIcer 3

[Option ID = 13351]
4. Statement | is false but Statement Il is true
@erel | 3RIc 3, clfdpol werat | et

[Option ID = 13352]

25) According to classical Indian thinkers, in which of the following means of knowledge, we accept a fact or principle for
explaining an undeniable fact, which otherwise cannot be explained?

IR HIRARI foram el @ 3reRIR fororfeiRad 3 A sirel & =1 A1eret 3 331 3RASH a2 & RS B0l B fére vep ae srerar Rigia o Fdier wd &
RIR1hT 31671 YBIR A RARK o8l o1 St Al & ?

[Question ID = 10839][Question Description = 130_00_GP2_SEP22_S2_Q30]
1. Non-Cognition (Anupalabdhi )
Siopucifder

[Option ID = 13353]
2. Comparision (Upamana)
3uTe

[Option ID = 13354]
3. Verbal Tesimony (Sabda)
UG

[Option ID = 13355]
4. Postulation (Arthapatti)
srerfufer

[Option ID = 13356]

26) Arrange the following computer memory types from the slowest to the fastest speed:
A. Main memory (RAM)

B. L2 Cache

C. Hard Disk

D. L1 Cache

E. CD-ROM

Choose the correct answer from the options given below

el BRIz HAH B goRI B A £fF A TG Ast I B A 3 oIS
A. ggg aiirst (RAM)

B.L2 B9

C. aré Rew

D.L1d&a

E. CD - ROM

ot Row s1e Riesedl 3 3 1) 3w 9ot :

[Question ID = 10840][Question Description = 131_00_GP2_SEP22_S2_Q31]
E, C, A, B, D [Option ID = 13357]
E, C, A, D, B [Option ID = 13358]
B, D, A, C, E [Option ID = 13359]
C, E, B, A, D [Option ID = 13360]

)

A W N -

» &y

27) With respect to telecommunications, which of the following forms of communication are synchronous?
A. Email

B. Instagram posts

C. Blogging

D. Telephone calls



E. Instant Messaging

Choose the correct answer from the options given below:

gaeiar & zicef 3 ProiRia 3 Far w1 Wlot AT U AADIRID & ?
A §-da

B. svempma e

C. wiifior

D. R1wlor wicar

E. $3¥c aRisr

ot R a1 Riaseu 3 3 w1 5oz gat:

[Question ID = 10841][Question Description = 132_00_GP2_SEP22_S2_Q32]
1. A, BandConly
Dact A, B siiz C

[Option ID = 13361]
2. DandE only
dact D 3z E

[Option ID = 13362]
3. A, B,DandE only
daa A, B, Daliz E

[Option ID = 13363]
4. A,B,C,DandE
A, B, C DaRE

[Option ID = 13364]

28) Match List | with List Il

List | List Il

Computer Term Hardware/Software
IA. System Software |. Keyboard

B. Input Device Il. Pen Drive

C. Output Device 1l. Linux

D. Secondary Storage Device IV. Printer

Choose the correct answer from the options given below:

It -l Y 3 -1l 21 Fafera Hifdie :

et -| et -1l

BRI orecTacit TSR/ ircder
A. Brzca sifucaer I. 61 - @rs

B. soige Barda 1. Y1 3I3@

C. simeyce Barda lll. crrsora=t

D. dass8t 2t Rarka IV. Ric2

oflI f& arQ frapeul 3 A 98l 3= gfore :

[Question ID = 10842][Question Description = 133_00_GP2_SEP22_S2_Q33]
A-1V,B-1,C-1ll,D- 1l [Option ID = 13365]
A-11,B-1,C-1V, D - Ill [Option ID = 13366]
A-1I,B-1V,C-1,D- 1l [Option ID = 13367]
A-1ll,B-1,C-1V,D- Il [Option ID = 13368]

A wWN =

29) A movie requires 16 gigabytes of storage. How long will it take to download this movie, if the download speed is 64
megabytes per second? (1KB=1024 Bytes)

uep Jdl 32Nt 3 16 sfenarde ser adi 3 afe ssdls s 64 enarse gfe A®s 3 dl, 33 Hdl B SSsolcls alol 3 fipden 191 eeen ? (1KB =
1024 srear )

[Question ID = 10843][Question Description = 134_00_GP2_SEP22_S2_Q34]
1. 64 seconds
64 Aws



[Option ID = 13369]
2. 128 seconds
128 Aws

[Option ID = 13370]
3. 256 seconds
256 Awps

[Option ID = 13371]
4. 512 seconds
512 3Aws

[Option ID = 13372]

30) Consider the following incomplete sentences about printers:

A laser printer is a type of printer. It produces quality printouts and uses to print onto paper. A
printer can produce carbon copies because the print head makes contact with the paper.

Identify the correct order to fill in the blank spaces using words from the list below ( A-D )
A. High

B. Dot Matrix

C. Non-impact

D. Toner

Choose the correct answer from the options given below

fiee @ @R 3 forgot 3re} ararel U R &3 :

o oieR feR gyooR &I fice 3 a8 Spuradrgui fesnset formrerdr 3 3k P uR 8ur @ foe DI GBI BIAT S TD
ez @rdor oidl forererar 3 aIifp s3I ftje 35 PP ® Jue I /A1 S

RrgotferRae (A - D) 3 3 fres zerroil &1 gff & Rre oredi & 31 @t b1 usarel HIRIC -
A. 3

B. sfc diftawt

C. sifet - s3Iac

D. Aoz

ofidl R o1u Rieseul 3 A w1t 3a2 gal :

[Question ID = 10844][Question Description = 135_00_GP2_SEP22_S2_Q35]
B, A, D, C [Option ID = 13373]
C, D, A, B [Option ID = 13374]
A, B, C, D [Option ID = 13375]
C, A, D, B [Option ID = 13376]

A W N -

31) A 20 dB increase in noise level represents an enhancement in intensity of sound by a factor of

fop=fl olk & ¥z 3 20 3Rwer b1 gfig eafor 3 digar & = I gfis B} forgat spurias 3 gorfar 3 -

[Question ID = 10845][Question Description = 136_00_GP2_SEP22_S2_Q36]
2 [Option ID = 13377]

5 [Option ID = 13378]

100 [Option ID = 13379]

20 [Option ID = 13380]

A WN -

32) An earthquake in magnitude on the Richter scale in the range 7-7.3, is termed as

Race a1 R 7 - 7.3 a1 @1 ueb 3jopu fordol U A ulsnfia slar 3

[Question ID = 10846][Question Description = 137_00_GP2_SEP22_S2_Q37]
1. destructive
feromoremrst

[Option ID = 13381]



2. ruinous
faedard

[Option ID = 13382]
3. disatrous
3retefprst

[Option ID = 13383]
4. catastrophic
IRID

[Option ID = 13384]

33) Given below are two statements
Statement I: Dioxins are chlorinated compounds.
Statement Il: Dioxins cause deaths of birds and other stray animals due to their widespread use as herbicides and pesticides.

In light of the above statements, choose the correct answer from the options given below

ofid S peret feu sTu 3 :

Dt - | : srEsiifiRic adif¥ores Al &

@l - || : srEsiifirior onaweleredl iz dblcsiorml @ WU I wrud GIST A UfdrRl s ardif¥i Sierarl 1 g BT BRI 3
IWRfTD el B Il 3 FEatfeRad Riacul i A A8l 3az gol :

[Question ID = 10847][Question Description = 138_00_GP2_SEP22_S2_Q38]

1. Both Statement | and Statement Il are true
Dol | 3R || greil 3 &

[Option ID = 13385]
2. Both Statement | and Statement Il are false
@l | 3R || Slall 3RIeT &

[Option ID = 13386]
3. Statement | is true but Statement Il is false
@erol | AT 3, Afdpor derat |1 3wt 3

[Option ID = 13387]
4. Statement | is false but Statement Il is true
@erol | 3ric 3, Afdpel averat 1 Jeer 3

[Option ID = 13388]

34) 'Joint Implementation’ was one of the mechanisms suggested in meeting the objectives of

fopa1 133ictol B 32931 3 ' HAYTD DRIfoaRIol ' T FSIRIT SR Yozt o1 ?

[Question ID = 10848][Question Description = 139_00_GP2_SEP22_S2_Q39]
1. Agenda 21
wolst 21
[Option ID = 13389]
2. Montreal Protocol
afifeeret gicimiet
[Option ID = 13390]
3. Kyoto Protocol
A PAXBIer
[Option ID = 13391]
4. Paris Agreement
¥ Jersian

[Option ID = 13392]

35) Which of the following ststements are true about the International Solar Alliance?
A. It was founded in 2012.
B. India is one of the founding countries.

C. Its headquarters are in Geneva.



D. It was signed by over 100 countries.
E. Mostly sunshine countries are members of this alliance.

Choose the correct answer from the options given below:

forgotferfiac 3t ot A werol sicRIcCRI HI2 sTodtiol & ar i A8 3 ?
A. sadt emuer 2012 3 g§ oft
B. sira sad dzenud Joif & A v 3
C. SIDI FIRICK Slotdl 3 &
D. e 100 2 off arfers Soll oI sraneifea 3
E. 3z Suctetidr drcl SAGIAR 91 $3 JIGdeel D AGRI 3
oA Ry s1e Riescdl & A w1 a2 goi ¢
[Question ID = 10849][Question Description = 140_00_GP2_SEP22_S2_Q40]
1. A, Cand D only
@dact A, C ik D

[Option ID = 13393]
2. A, DandE only

daer A, D aie E

[Option ID = 13394]
3. B, Cand D only

@act B, C 3z D

[Option ID = 13395]
4. B, D and E only

Dact B, D 3z E
[Option ID = 13396]

36) According to the UGC (Credit Framework for Online Learning Courses through SWAYAM), 2021, upto what percentage of
total course credits in a particular programme in a semester can be offered through online courses?

il (SWAYAM gRr sifeicisal sifeera urgapdil @ fére @ Fezsudzan) 2021 & s Rp=il 9y Qioyer @ fére v 2aq) 3 @gat af @ Few1 ”bast
gftrert aw sifcicisel BRI GRI Yaifaa fopan s arwar 3 ?

[Question ID = 10850][Question Description = 141_00_GP2_SEP22_S2_Q41]
. 25% [Option ID = 13397]
. 40% [Option ID = 13398]
. 50% [Option ID = 13399]
. 45% [Option ID = 13400]

A W N -

37) With reference to intake of Indian students, an Institution of Eminence can admit foreign students additionally, up to the
extent of

HIRARI BIG) &1 gya9r yfepn @ st 3 oI creer yfeiftoa izaret @a fReaa gferea ao fgoft aqgi o) yagr ¢ Awar 37

[Question ID = 10851][Question Description = 142_00_GP2_SEP22_S2_Q42]
20% [Option ID = 13401]
25% [Option ID = 13402]
30% [Option ID = 13403]
35% [Option ID = 13404]

A W N -

38) Value education is about promoting
A. equality and social justice
B. national cohesion and democratic citizenship

C. rich cultural and spiritual heritage



D. religious practices and beliefs
E. sound moral and ethical principles

Choose the correct answer from the options given below:

Icawre ren e an 3 Qienfda ol 37
A. 311611 3R ATAIRID RIRT

B. i AAafep siiR diwdife e aerfeamar
C. J3g AlR@ice Ak sneafeas RrrIa
D. enfdfe gend iz fereart

E. 3<a sifer iz sfifepra Rigia

offa fou are faraeul 3 21 A1t 3@= gol :

[Question ID = 10852][Question Description = 143_00_GP2_SEP22_S2_Q43]
1. B, C, Dand E only
dact B, C, D3R E

[Option ID = 13405]
2. A, B, CandE only
dact A, B, Csir E

[Option ID = 13406]
3. C,DandEonly
@act C, D 3l E

[Option ID = 13407]
4. A, B and E only
@act A, B sl E

[Option ID = 13408]

39) Who is the Chairperson of the Excecutive Council in a Government University?

b=t eI faeafdencr 3 PRIGE! uf¥ug @1 el il aldr 37

[Question ID = 10853][Question Description = 144_00_GP2_SEP22_S2_Q44]
. Vice Chancellor
qetufer

=)

1

[Option ID = 13409]
2. Visitor's nominee
fafSre gt onfdia ez

[Option ID = 13410]
3. Chancellor
qetifirafer

=)

[Option ID = 13411]
4. Secretary Higher Education Department
Jfera, 3ca foren fasst

[Option ID = 13412]

40) Given below are two statements
Statement I: Pitroda Commission recommended setting up 1500 universities in India to avoid stagnation in Higher Education.

Statement Il: To address the problem of low enrolment in higher education in India, Indira Gandhi National Open Universities
was set up in 1975.

In light of the above statements, choose the most appropriate answer from the options given below

off<l 1 Perel fRu s 3 :

@l - | : sira 3 I<a e 3 sIfeRIer DI 63 Dol B fore Riqicr smrRieT of 1500 fraferencril o Femuen o1 Riwifor ot

@ol - Il : Hre i ST {91811 3 3reU sidHiIdel b HAIRAT DI g2 Dol D fere 1975 3 siear anieht s Fob fraldener o Femuol bl arf
IWRETS ereil @ sl 3, forarfeRaan fraseal 3 3 AR ST 392 gpol :



[Question ID = 10854][Question Description = 145_00_GP2_SEP22_S2_Q45]
1. Both Statement | and Statement Il are correct
@erol | 32 | Sl 318t &

[Option ID = 13413]
2. Both Statement | and Statement Il are incorrect
@erol | 32 | Slail st &

[Option ID = 13414]
3. Statement | is correct but Statement Il is incorrect
Pl | @ 8, fpoq weret |l steta 3

[Option ID = 13415]
4. Statement | is incorrect but Statement Il is correct
el | arerd 3, fpog deret || 2@t 3

[Option ID = 13416]

Topic:- GP_UGCNET_20SEPT22_SH1_S2_PartC

1) Read the following passage and answer the five questions that follow

According to the World Health Organisation (WHO), air pollution is now comparable to other global health risks like unhealthy
diets and smoking tobacco. It is recognised "as the single biggest environmental threat to human health”. WHO guidelines,
which are not legally binding and intended as a reference for policymakers, advocacy groups and academics,
stipulate permissible concentrations of six pollutants known to have impacts on health: two types of particulate matter
known as PM25 and PMqg, as well as Ozone, Nitrogen dioxide, Sulphur dioxide and Carbon monoxide. The guidelines could
also send a message to the wider public about lifestyle and business choices - whether it is driving cars and trucks, disposing
of garbage, working in industrial jobs or farming. WHO says the main human-generated sources of air pollution can vary
geographically but include the energy and transportation sectors, as well as waste dumpsites and home cooking and heating.
It advised people to do their part by changing their lifestyles - not running car engines uselessly; avoiding use of plastics
that could end up being incinerated; and walking, riding bikes or using public transportation to get to work.

It should be noted that "because of air pollution, the simple act of breathing contributes to 7 million deaths a year. Almost
everyone around the world is exposed to unhealthy levels of air pollution”. The harmful health effects of air pollution kick in
at lower levels than previously thought, the World Health Organisation has said as it has set a new standard for policymakers
and the public in the first update of its air quality guidelines in 15 years. Since the last update of the WHO
recommendations, better monitoring and science have cleared up the global picture about the effects of six major air
pollutants on human health. According to the agency, 90% of the world's people already live in areas with at least one
particularly harmful type of pollutant.

forraiferRaea srerior o Araensit A ug 3iiz 3w s1w gesil & Ia= 3

forra Farre JHs1o6l (Secy g 3il) @ SRR, drg YgUUI BIfoibR® #isTel Bd ggIulel SIA 361 dffad yarred Sif3adl 3 3| defofikr 3 31 " dlold
AR D o0 U AeR] ST GR—ITGRUIRI TRl HATGH Sl & fiPd TaRe o160l @ fGonforGor Sii diolell U A TIEADRI o18l & 3R Krerd1 3g9a
siifer forariarsii, awmIcta @l arct APgl 3R Pignfaci o fere Jgs @ U 3 3, FARLA UR YHIA Siclol drdl SIId ®: Ygldl : Ul va 2.5 3iiz di war
10 & »u 3 =i faferp ugrel 3iSilol, olsgIsiol SIE3iiaRIES, AcHR SE3HiaIES 3R PIde Hllsiiass &l oI Aigasii o forerdzor ol 3
3 fonforder =muwm Sierdr @l Siidel el ik =IMUR fwcdl @& an i ASor ot S ADd 3- a1 As PR AR TP dclloll 3, B3 Pl forucrol Bl
31, 31N ®rRl srerar Gfty 3 BRI ol 31 Sec3y Ta 31 wadl 3 6 ARy YgHUT BT J3=T Aol Siford e HidHferd U 3 3ICI3T 3IeT3T 8l ADAT 3
Afdbol s3d FHoll e uf¥aser &I aem ufdrese S Fere 3z a2 3 Il Jollell den Hufimur onfdcT & s3a clsll @) Acis & {6 el Sfiaer
oiferil 3 uf¥adel @2 - Y6l SReed & PR, Iolol oIdl Ucd: ; WA Tlil¥cd ORI®I 3ida: caol 3l ADI & DI IURIIPI DD AR Uce AcTDR, dBD
TCIDR AT DRI FUCT AD Ugdol D 18 Ardsifold Ufease I IURIIPI B2 AU APIGIE! P

g oilc fopan sion anfde fo6 AR yguur @ ®RuI, ddad A dol &t AEIe gfdgrn 3 7 fhifermer dell &bt gfer ad gy At 3 faea e 3 gre:
gRI® Ifth dR] YgHUl @ 3RARAD: IR A 3gIRE a1 3" fca ¥are HsIo6l of el 3, arg YgHUI &l sIoIPR® IR gud fordolar ¥Rl
U2 9% BIdl 3 fOrl uscl wsft e ofdl owm 3 AT & sl 15 aul # it ary spuraar Sen-fordent bt usch Siorwst # ofifer forarfarail siiw sma
Sloldl @ fo1e U oRl AreIcs forerff¥e fiper 3 soc’y war 3il bl RIwIfoll @ 3iferer SIeipRl @ RT3, d6aR foPRIel wd fsilel of Alold FARA UR
B8 JHE arg Ygudl @ ar 3 dfae aediz of Aare o= R 3 welxfl @ SR, frea @ 90% oiier usar A 8t ol §iqi ¥ a3 Riowl o wu A
DH A DA TP BIIPRD YDR DI Ygud &

Why are the WHO guidelines on air pollution not binding on member states?

fora Farrex Fsto01 B ARy Yguvur Al fEom foréer w6e=r g} Uz aread st o=l ordt & ?



[Question ID = 10855][Question Description = 146_00_GP2_SEP22_S2_Q46]
1. Not all countries are WHO members.
it SoI Secy B 3l D AGRKI ol &

[Option ID = 13417]
2. Air pollution is still not a serious problem.
arg yguor areft oft sisfle Jpore=m ordt 8

[Option ID = 13418]
3. Guidelines do not have legal sanctity.
fSonfordoll &t Pofoll I otet &

[Option ID = 13419]
4. The guidelines lack scientific validation.
fSonfordelt 9t dsmfore Jerar bt waft 3

[Option ID = 13420]

2)

Read the following passage and answer the five questions that follow

According to the World Health Organisation (WHO), air pollution is now comparable to other global health risks like unhealthy
diets and smoking tobacco. It is recognised “as the single biggest environmental threat to human health”. WHO guidelines,
which are not legally binding and intended as a reference for policymakers, advocacy groups and academics,
stipulate permissible concentrations of six pollutants known to have impacts on health: two types of particulate matter
known as PM25 and PMqo, as well as Ozone, Nitrogen dioxide, Sulphur dioxide and Carbon monoxide. The guidelines could
also send a message to the wider public about lifestyle and business choices - whether it is driving cars and trucks, disposing
of garbage, working in industrial jobs or farming. WHO says the main human-generated sources of air pollution can vary
geographically but include the energy and transportation sectors, as well as waste dumpsites and home cooking and heating.
It advised people to do their part by changing their lifestyles - not running car engines uselessly; avoiding use of plastics
that could end up being incinerated; and walking, riding bikes or using public transportation to get to work.

It should be noted that "because of air pollution, the simple act of breathing contributes to 7 million deaths a year. Almost
everyone around the world is exposed to unhealthy levels of air pollution”. The harmful health effects of air pollution kick in
at lower levels than previously thought, the World Health Organisation has said as it has set a new standard for policymakers
and the public in the first update of its air quality guidelines in 15 years. Since the last update of the WHO
recommendations, better monitoring and science have cleared up the global picture about the effects of six major air
pollutants on human health. According to the agency, 90% of the world's people already live in areas with at least one
particularly harmful type of pollutant.

forgoiferRaa sTerior ol Arasisil A Ue 3R f$u 3w goll @& 3w &

fora Farre HeIc0l (Secy U 3il) @ 3oRAR, dRJ YSHUI BIfeibRM® HISIol Ud YgIulel S 316w dffad Fare Siiadl A 314 defeilkl 8 3 " dleld
Fared @ fo1e v A 931 wRIfauii Fan” el Siar 3 fara Fare Heroe @ f3enfersor Sit wigfell U 3 areadrl ol 3 3iir frormr 32
oiifer forariarsii, awmIcta a2l arct APgl 3R Pignfaci o> fere Jgs @ U 3 3, FARLA UR YHIA SicTol dIdl Siid B Ygldl : Ul va 2.5 3iiz di wa
10 & ¥»u 3 =i faferp ugref 3iisilol, olisgIsiol SIE3IiaRIES, AcHR SE3HiaAES AR Prde HlslsiiaAss &l oI Aigasii o forerizor ol 3
3 fonforder =muwm Sierar @l Sfidel el 3z IR fpcdl & an A Acor ot ¢ Add 3- a1 As PR AR TP adlloll 3, B3 Pl foracrol Bl
31, 311N ®rRf srerar Gft 3 BRI ol 81 Sec3y Ta 30 wadl 3 b ARy YgHUI BT J3=1 Aol SIford e HIdNITD WU 3 3ICI3T 3IcT3T 8l ADAT 3
cIfdbol 331 Holl T ufsasel &I ar Ufdree SHI Fore 3R €2 3 ol Jollell del HGHImUT InfdicT & ol cllvll @I Aciis &I b el Sfiaet
giferil 31 uf¥adsl @z - Yol SRezd @ DR, Folol oIdl TcdR | VA wlii¥cd RPIRAMI 3idd: caol 3l ADI & DI SURIPT DID 3 Ucd UKD, dIFD
TIP3 3[AAI PRI Feel dd Ugdol D fe1e Aldsifolad Uf¥dsst I IURIIST P2 AUl APIGIol dF

g ollc fopan Sien anfde fo5 "ar] yguur & ®RUI, ddd A clol &t AEIea yfigrn 3 7 fhifermer dell &t gfer ad gy At 3 farea s 3 gr:
JRA® cAfth drI YgUuT & 3Rrazead: ¥Rl A IGIRM 3iar &' fra Farred HsToel of ®al 8, ARl YgHUI Pl SIferpR® Fareed guId forelia? TRl
U2 9 Bl 3 O usct w3ft e ofdl o 3 AT & st 15 auf d 3ot ary spuraar fSen-fordent bt usch Siorst & ofifer foratfarsit siie sma
Sloldl @ fo1e uab ol AreIcs forerff¥e fipar 3 soc’y war 3il bl RIwIfoll @ 3ifere SIeipRt @ FrI 3, d8aR foPRIel wd fsilel of Alold FAREA UR
B8 M arg Ygudl @ ar 3 dfae aedlz of Aare o2 R 3 welfl @ SR, fea @ 90% ofier usar A 3t ot §iqi ¥ a3 Rrowdl o wu A



DH 3 DA TP BIfIPRD YDR Bl Ygud &

What is the WHO reference for policy makers?

oiifer forarfarsii @ fere sec3y va 3N oo @ 3 ?

[Question ID = 10856][Question Description = 147_00_GP2_SEP22_S2_Q47]

1. Reduce the ozone level

3ilSilel IR DI Bel BIol

[Option ID = 13421]
2. Promote advocacy groups

qoIcTd ol dlcl @l DI Adaelor Dol
[Option ID = 13422]

3. Threshold concentration of identified pollutants
SIfarsTIe yguel & R Aigar
[Option ID = 13423]

4. Focus on all types of health risks
J08ft YR D Fare SRl W irel BiGA Bl
[Option ID = 13424]

3) Read the following passage and answer the five questions that follow

According to the World Health Organisation (WHO), air pollution is now comparable to other global health risks like unhealthy
diets and smoking tobacco. It is recognised “as the single biggest environmental threat to human health”. WHO guidelines,
which are not legally binding and intended as a reference for policymakers, advocacy groups and academics,
stipulate permissible concentrations of six pollutants known to have impacts on health: two types of particulate matter
known as PM25 and PMqo, as well as Ozone, Nitrogen dioxide, Sulphur dioxide and Carbon monoxide. The guidelines could
also send a message to the wider public about lifestyle and business choices - whether it is driving cars and trucks, disposing
of garbage, working in industrial jobs or farming. WHO says the main human-generated sources of air pollution can vary
geographically but include the energy and transportation sectors, as well as waste dumpsites and home cooking and heating.
It advised people to do their part by changing their lifestyles - not running car engines uselessly; avoiding use of plastics
that could end up being incinerated; and walking, riding bikes or using public transportation to get to work.

It should be noted that "because of air pollution, the simple act of breathing contributes to 7 million deaths a year. Almost
everyone around the world is exposed to unhealthy levels of air pollution”. The harmful health effects of air pollution kick in
at lower levels than previously thought, the World Health Organisation has said as it has set a new standard for policymakers
and the public in the first update of its air quality guidelines in 15 years. Since the last update of the WHO
recommendations, better monitoring and science have cleared up the global picture about the effects of six major air
pollutants on human health. According to the agency, 90% of the world's people already live in areas with at least one
particularly harmful type of pollutant.

foraotferRaa srerior @l Aracmell A ud 3l 3y s1a gl & Iz &

forrq Farre Js1o61 (Sec3 v 3il) D SORIR, ARy YoYUl BIfolPR® $isiel Ud &gIure] SI 361 dffad rared Sif3qdl 3 3@ deroflRl 3 3 " el
Farea @ e v A a31 wiiaeviln daer” el Siidr 3 fara Fare ool @ fonfordor it digloll U A areAmIst oidl 3 3l Rioldr 339a
oiifer forarfasii, amrcra @l arcl Agl 3ii? Pignfict @ fore Jcs @ wu 9 3, FarReA R YHE Siclol drd 3 ©: ggudl : Ul war 2.5 siiz Ul war
10 @& 3% 3 =1 fafeep ugrel siisilol, olisgisiol SIE3IIaRIES, AcH SEIHiaAES AR P HlsisifaAEss &l eI Aigasil oI foredor wxdl 3
3 feonforder camudm Siotal @I Sfidot 9icfl sl caMuR fawedl @ aR 3 ATl it § ADA 3- U@ A8 DR 3R ¢d Tclell B, B DI forucrel dIell
31, 3iENR1s DRI 3rerar it 3 PRI D6l 81 Socy T 31 Dadl & b arY YgUUI DT IR dAleld STfold JUd HislIfeiad WU A 3IIcT3l 3IcdT 8l ADAI 3
Afdbor 33 Holl den uf¥aser &I ae rafdrese S Ferd iz a3 A ol Jollell el Htfibur onfdicr 3 3ol clsll @I Adlls & 6 sraal Sfider
diferil 31 uf¥acel @z - Yol SResd B DR, $olol oISl AclidR | VA TelfIcd RBIRADI 3ida: caol 3l ADAI 3 DI IURNPI BID 3T U dcIdR, dBD
TCIID? Al DRI Ferel ab ugaa @ fere Ardsifore uf¥asst @I IURIPI @2 UG ABICIl DI

15 ollc fopen Sion a1fde o6 "dR] gguur @ BRI, ddd AR clol &l AT gfgen 3 7 fiferier cell &t gfer ad gy aXedt 3 forea e 3 g
Y@ Afth dr] YgUul @ 3RarA®m? FRI A IgIRa 8iar 3" e Faren JHs1o6l of @8l 3, drg YgHUI @I BIIPR® IR YA fordorar Farl
U3 9% Bldr 3 ORI uacl @il e o1dl R & A1 & s3al 15 aul d sruoll ary syuraer fSen-fordorl &I usedl ot 3 ofifer forafarsil siiz smar



SToldl @ fo1u uop oRn eI forerff¥e fipen 3 Soc’y wa 3il bl RwIfoll @ 3iferer SIereR @ RT3, R oPRIel wd =6l of Alold FARSRA R
B8 YA ar Ygudl @ arR 3 dfad ardiz ot A6 o2 & 3 wolfl & siggaIr, fra @ 90% eiiet usal A & 3o Sigi 3 @a 3 o fadw u A
DdA A DA TP BHIPRD YPR DI Ygud 3

The WHO advice to the public is:
SITH SToldll W1 Soc3y QeI 3iI b1 Helis 3 :

[Question ID = 10857][Question Description = 148_00_GP2_SEP22_S2_Q48]
1. ldentify the sources of air pollution
AR YguuI o Yl HY usdrel wol
[Option ID = 13425]
2. Change lifestyles
Sfiqer dictt 3 uf¥ador wen
[Option ID = 13426]
3. Stay indoor as much as possible
RALARAINA T2 3 3B
[Option ID = 13427]
4. Incinerate plastic waste
e 3mufdre Bl Sicll &

[Option ID = 13428]

4) Read the following passage and answer the five questions that follow

According to the World Health Organisation (WHO), air pollution is now comparable to other global health risks like unhealthy
diets and smoking tobacco. It is recognised "as the single biggest environmental threat to human health”. WHO guidelines,
which are not legally binding and intended as a reference for policymakers, advocacy groups and academics,
stipulate permissible concentrations of six pollutants known to have impacts on health: two types of particulate matter
known as PM2.5 and PMqg, as well as Ozone, Nitrogen dioxide, Sulphur dioxide and Carbon monoxide. The guidelines could
also send a message to the wider public about lifestyle and business choices - whether it is driving cars and trucks, disposing
of garbage, working in industrial jobs or farming. WHO says the main human-generated sources of air pollution can vary
geographically but include the energy and transportation sectors, as well as waste dumpsites and home cooking and heating.
It advised people to do their part by changing their lifestyles - not running car engines uselessly; avoiding use of plastics
that could end up being incinerated; and walking, riding bikes or using public transportation to get to work.

It should be noted that "because of air pollution, the simple act of breathing contributes to 7 million deaths a year. Almost
everyone around the world is exposed to unhealthy levels of air pollution”. The harmful health effects of air pollution kick in
at lower levels than previously thought, the World Health Organisation has said as it has set a new standard for policymakers
and the public in the first update of its air quality guidelines in 15 years. Since the last update of the WHO
recommendations, better monitoring and science have cleared up the global picture about the effects of six major air
pollutants on human health. According to the agency, 90% of the world's people already live in areas with at least one
particularly harmful type of pollutant.

forsotferR3aa sterior @ Aratmell A ud siiz 0y o190 gl & Iaz &

ferra Farre o106l (Sec3 v 3il) @ SRR, dry YgUUI BIfoipR® $iistel Ud ggIurel SIA 361 dffad yar-ed Sif3adl 3 3| defoflkr 3 3 " ol
e @ fore v AR 931 wRIfauiiRI TR A6 Siar 3 fra Fare JHeree @ f3onfordor Sit diglell U 3 areadrl oidl 3 iR Rrard! 3goa
siifer forariansii, awmIcra @l arct APl 3R Prgnfaci o feru Jgst @ ¥y 3 3, FaReA UR YA Siclol ard SIId B Ygudl : Ul va 2.5 3iiz di war
10 @ U 3 s fafep ucrel 3iiSiie, aIsglsiol SIEIIaRIES, AcHR SEHTAAES 3R DIdol AlGIBIIARIES B e ATgaArall aI forerzor w=ril 8
A fGenforder cmuas Stordr @l Sfidol dicll 3k caUR fawcdl @ AR 3 Acor sft ¢ AdA 3- a1’ AT DR 3R B dclion 3, B DI forucrel woin
31, 3iieNf3rs BRI srerar Gfty 3 BRI ol A Soce, T 30 Dadl 3 5 ARy YgHUT T #3 Al SIford FIe HidNferd U I 3rerET 3IeT5T 8l ADI &
QAfdper s31d Hoif aen uf¥aset &iq den srufdree s Ferc 3z a3 3 el dolloll den Seaflaur onfirct 3 s cllsil @ Acis & 15 srua Sitdor
oiferil 31 uf¥adel @z - ol SReed B DR, Folol oISl TcidR | VA Tlll¥cd PIRADI 3idd: caol 3l ADI & DI WINPT BID 3R Ucd dcIDR, dIFD
TCTIPR (AT PRI Feel d® Ugdol B fe1u Ardsifors uf¥asst I IURIIBT P AUl ARGl ™

I8 ollc fopa Siten a1fde fop "dR] YgHuUr @ DRI, ddd AR clol dI AMAIGA gfpan 3 7 fiferrer cell &I ygfer ad gy 3Kl 3 g sr 3 gre:
YA® Afth dr YgUUl @ RAFAD? IRI A IGIRIA 8Iar 8 fda Fared IHs166l of al 8, diJ YgHUI DI BIIPRE FARL YHIA foldoiar FaRl
U2 9 BIdI & ORI uscl @il e ol srem & wrer & 3ot 15 auf 3 sruehl ary spurar feon-forgorl &t usell Sioreprst 3 ofifer forarfanail sz smar
Sloldl @ fo1u uep oRn eI forerff¥e fipenr 3 Soc’y wa 3il bl Riwif¥oll @ sifersr SiereR @ RT3, R foPRIel wd fslel of Alold FARSRT TR
88 JHH drg Yol @ ar 3 dPae audliz of Aare o= R 3 welfl & SR, fea & 90% dlier usdr A &t ol Siqi ¥ w6 3 Rrowl g wu A
D 3 DA UD BIIPRD JBR BT YD 3



The measure adopted by the WHO to limit the air pollution is:

oc T 3l GIRI AR Yguvl &) H¥a ool & e Sorim srm wca 3:

[Question ID = 10858][Question Description = 149_00_GP2_SEP22_S2_Q49]
1. Present a global picture of air pollution
ar] yguul I dAfae axdiz yga aon
[Option ID = 13429]
2. Take a serious view of air pollution
AR] YGUUI DI ssfler 3 cloll
[Option ID = 13430]
3. Initiation of innovative practices
3ifdtera Rl UgGleRIl I 9 Dol
[Option ID = 13431]
4. Setting a new standard of air quality in its updated guidelines
31Ul 3rerfard fonfordell 3 ary bl S[UIaTI BT BD ORI AGID RI DI

[Option ID = 13432]

5) Read the following passage and answer the five questions that follow

According to the World Health Organisation (WHO), air pollution is now comparable to other global health risks like unhealthy
diets and smoking tobacco. It is recognised “as the single biggest environmental threat to human health”. WHO guidelines,
which are not legally binding and intended as a reference for policymakers, advocacy groups and academics,
stipulate permissible concentrations of six pollutants known to have impacts on health: two types of particulate matter
known as PM25s and PMqo, as well as Ozone, Nitrogen dioxide, Sulphur dioxide and Carbon monoxide. The guidelines could
also send a message to the wider public about lifestyle and business choices - whether it is driving cars and trucks, disposing
of garbage, working in industrial jobs or farming. WHO says the main human-generated sources of air pollution can vary
geographically but include the energy and transportation sectors, as well as waste dumpsites and home cooking and heating.
It advised people to do their part by changing their lifestyles - not running car engines uselessly; avoiding use of plastics
that could end up being incinerated; and walking, riding bikes or using public transportation to get to work.

It should be noted that "because of air pollution, the simple act of breathing contributes to 7 million deaths a year. Almost
everyone around the world is exposed to unhealthy levels of air pollution”. The harmful health effects of air pollution kick in
at lower levels than previously thought, the World Health Organisation has said as it has set a new standard for policymakers
and the public in the first update of its air quality guidelines in 15 years. Since the last update of the WHO
recommendations, better monitoring and science have cleared up the global picture about the effects of six major air
pollutants on human health. According to the agency, 90% of the world's people already live in areas with at least one
particularly harmful type of pollutant.

foraotferR3aa srerior @l Aracmell A ud 3iiz 3y 318 gl & Ia= &

fora Farre ool (Secy ud 3iI) B 3HofAR, dRJ YSHUI BlieidR® HISlol Ud ggUlel S 36w dffad Fdarre Sii3adl A 314 defoilkl 8 33 " dleld
Farea @ fore v A a31 wiiaeviln wder” #Aren Sirar 3 fara Fare Fsroer & fonforsor it digloll U A areAmIst oidl 3 3l Rioidr 339a
oiifer forarfasii, amrcra @l arcl gl sz Rignfc @ e ey @ wu 3 3, FareA W YA Siclel dId 3 8. ggudl : Ul war 2.5 siiz ul war
10 & 3ou 3 s1a fafes ueref 3iiSilol, AR ISE SEHIARIES, AcHR SESiaIEs iR BIde Alcsiiass &b e Aigasii o1 foredor ot 3
A fGonforder camuam Siotal @I Sfidot 9icfl sk sMuR fawedl @ aR 3 ATl it § ADA 3- AIB A DR 3R ¢d Tclell B, BF DI forucrel dIell
31, 3IENRI DRI 3rerar it 3 PRI DI 81 Socy T 31 Dadl & [ arY YGUUI DT IR Aleld STfold IJUd Hislifeiad WU A IICTRI 3IcdT 8l ADAT 3
Afdbor 3 Holl den uf¥aser &I aer afdrese S Ferd 3z a3 A ol Jolloll del Htflbur onfdicr 3 3ol clsll @1 Adrs & 6 sraal Sfider
diferil 3t uf¥ader @2 - el SRA D DR, FTdl oIl acD2 ; VWA wenlcd RBRIGT 3iad: ol &l APl 3 BT IUAPT BID IR Usd AcTDR, TED
TCIID? Al DRI Ferel ab ugad @ e Ardsifere uf¥asst @I IURIPI @2 UGl ABICIl DI

s il fopar St aifde 6 "arRy Yguur & oRuI, ddad AR dal &l ARIeA Yipar 3 7 Biferrar deil &t gfer ad g aicft 3 faea sr 3 gRi:
JRI® b dRf Yglul & 3Razad: FRI A ISR 3iar 3" fora Fare HsToel of @al 8, aR] YgHUI Pl SIferpR® Farred guId fodelar Farl
U3 9% Bldr 3 ORI uscl @il e o1dl srRm & A1 & s3al 15 aul d sruoll ary sypurasr Gen-fordorl I usell St 3 ofifer foraiarsil siiz smar
SToldl @ o1 U oRIT ATelgs forerifyd fopam 8 Secy wer 3il i Riwifoll @ 3iferd SieIpst @ AR A, JaaR foPRIcl wd fdsiel of el FarRed U
88 Y dr YgHdl @ aR I dPae adlk ol 1w @2 R 3 wohfl & sigar, fea @ 90% et usa A & 3a i) 3 8d 3 Ko 9w a2
D A DA UP BHIPRD YPR DI Ygud 3

The major inference to be drawn from the passage is:



IEI0T A IR ORI TR foreperar 37

[Question ID = 10859][Question Description = 150_00_GP2_SEP22_S2_Q50]
1. Do not ignore the harmful health effects of air pollution.
AR] YGUUI D BIOIDPRD IAR YIIrdl I UL oldl Dol

[Option ID = 13433]
2. People should change their business practices.
clisll I 3ol DRf ol Bl UGhT agerofl aifge

[Option ID = 13434]
3. Policy makers can mitigate air pollution by their initiatives.
oiifer foraiar aruoll usell @ e A ARY YGUUI DA B2 ADA 3

[Option ID = 13435]
4. The WHO has updated its air quality guidelines often.
Soc U 3l of AR dr, JUIadI Adell el fGonfoidell @l srerer fpar &

[Option ID = 13436]






